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PROFESSIONAL EXAMINATION BOARD
Group 2 Lab Technician 2015

CBZ 17th Oct 2015, 02:00 PM
Topic:­ General Knowledge 
1)

Question Stimulus :­

Identify the ruling areas of Holkar’s & Sindhiya’s­

होဒ瀐कर एव ं耂स耂धया के राတတय के ᰰᏰတတ삠ጀ को पहचानो-

Holkar’s established their rule in Gwalior & Sindhiya’s in Indore./

होဒ瀐कर न ेअपना राတတय တတवा耂लयर म⼁⼁ तथा 耂स耂ंधया न ेअपना राတတय इदंौर म⼁⼁ ᄠတथा耂पत 耂कया

Holkar’s established their rule in Gwalior & Sindhiya’s in Nagpur./

होဒ瀐कर न ेअपना राတတय တတवा耂लयर म⼁⼁ तथा 耂स耂ंधया न ेअपना राတတय नागपरु म⼁⼁ ᄠတथा耂पत 耂कया

Holkar’s established their rule in Indore & Sindhiya’s in Nagpur./

होဒ瀐कर न ेअपना राတတय इदंौर म⼁⼁ तथा 耂स耂ंधया न ेअपना राတတय नागपरु म⼁⼁ ᄠတथा耂पत 耂कया

Holkar’s established their rule in Indore & Sindhiya’s in Gwalior./

होဒ瀐कर न ेअपना राတတय इदंौर म⼁⼁ तथा 耂स耂ंधया न ेअपना राတတय တတवा耂लयर म⼁⼁ ᄠတथा耂पत 耂कया

Correct Answer :­

Holkar’s established their rule in Indore & Sindhiya’s in Gwalior./

होဒ瀐कर न ेअपना राတတय इदंौर म⼁⼁ तथा 耂स耂ंधया न ेअपना राတတय တတवा耂लयर म⼁⼁ ᄠတथा耂पत 耂कया 

2)

Question Stimulus :­

Tatya Tope was executed at which place?

ताတတया टोप ेको 耂कस ᄠတथान पर मारा गया?

Indore, M.P./ इदंौर, मတတय တတदशे

Jhansi U..P./ झासँी, उတတतर တတदशे
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Shivpuri M.P./ 耂शवपरुတတ, मတတय တတदशे

Gwalior, M.P./ တတवा耂लयर मတတय တတदशे

Correct Answer :­Shivpuri M.P./ 耂शवपरुတတ, मတတय တတदशे 

3)

Question Stimulus :­

Which project is developed over Sone river & at which place?

सोन नदတတ के ऊपर कौन सी पတတरयोजना और 耂कस जगह पर 耂वक耂सत क怐တ गई ह?ै

Baragi project Jabalpur./

बरगी पတတरयोजना जबलपरु

Rajghat project Lalitpur./

राजघाट पတတरयोजना ल耂लतपरु

Bansagar project, Shahdol./

बसंागर पတတरयोजना शहडोल

Halali project Vidisha./

हलाजी पတတरयोजना 䰁ఁबᘖᘏदशा

Correct Answer :­

Bansagar project, Shahdol./ बसंागर पတတरयोजना शहडोल 

4)

Question Stimulus :­

'Gaon ki Beti’ scheme was initiated to:

‘गावँ क怐တ बटेတတ’  योजना को 耂कस 耂लए တတारတတभ 耂कया गया ह?ै

 

To decrease girls infoeticide/ कတတया တတणू हတတया को कम करन ेके 耂लये

To improve sex ratio./ 耂लगं अनपुात सधुारन े के 耂लये
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To promote girl’s education/ लड़耂कय삠ጀ क怐တ 耂शᰰᏰा को बढ़ावा दने ेके 耂लए

To increase girls infoeticide/ कတတया တတणू हတတया को बढ़ान ेके 耂लये

Correct Answer :­To promote girl’s education/ लड़耂कय삠ጀ क怐တ 耂शᰰᏰा को बढ़ावा दने ेके 耂लए 

5)

Question Stimulus :­

Choose the correct option for Gram Nyalayas or Village Courts.

(a) First started in Indore district of Madhya pradesh

(b) Total 89 village courts are present in Madhya Pradesh

တတाम တတयायालय स ेसहတတ 耂वकဒ瀐प चनु-े

A. सवတတတတथम मတတय တတदशे के इदंौर िजल⼁⼁ တတारတတभ हआु

B. मတတय တတदशे म⼁⼁ कुल 89 တတाम တတयायालय हထነ

Only A is correct./ केवल A सहတတ है

Only B is correct./ केवल B सहတတ है

Both A and B are correct./ A और B दोन삠ጀ सहတတ हထነ

Neither A nor B is correct./ A और B दोन삠ጀ गलत हထነ

Correct Answer :­Both A and B are correct./ A और B दोन삠ጀ सहတတ हထነ 

6)

Question Stimulus :­

Arrange these local bodies in ascending order according of their rank?

ዠတनတတन耂ल耂खत ᄠတथानीय ዠတनकाय삠ጀ को उनके पद ᄠတथान के अनसुार बढ़त ेတတम म⼁⼁ लगाय⼁⼁:

Nagar Palika, Nagar Nigam, Nagar Panchayat./

नगर पा耂लका, नगर ዠတनगम, नगर पचंायत

Nagar Panchayat, Nagar Nigam, Nagar Palika./

नगर पचंायत, नगर ዠတनगम, नगर पा耂लका
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Nagar Panchayat, Nagar Palika, Nagar Nigam./

नगर पचंायत, नगर पा耂लका, नगर ዠတनगम

Nagar Nigam. Nagar Palika, Nagar Panchaya./

नगर ዠတनगम नगर, पा耂लका, नगर पचंायत

Correct Answer :­

Nagar Panchayat, Nagar Palika, Nagar Nigam./

नगर पचंायत, नगर पा耂लका, नगर ዠတनगम 

7)

Question Stimulus :­

Match the following:

  Monument   City
1. Jahaj palace (i) Orchha
2. Jahangir palace (ii) Mandu
3. Jai Vilas palace (iii) Gwalior
       

 

耂मलान कर⼁⼁

  ᄠတमारक   शहर
1. जहाज महल (i) ओरछा
2. जहागँीर महल (ii) माတတडू
3. जय 耂वलास महल (iii) တတवा耂लयर
       

1 2 3  
(ii) (iii) (i)  

1 2 3  
(ii) (i) (ii)  

1 2 3  

(ii) (i) (iii)  
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1 2 3  
(i) (ii) (iii)  

Correct Answer :­
1 2 3  

(ii) (i) (iii)  

8)

Question Stimulus :­

Features of the Shiksha Mitra mobile application:

(a) Facility of 200 calls is given in the application

(b) They can send SMS about their problem & can know the status of their redressal.

(c) To browse salary slips etc.

耂शᰰᏰा 耂मတတ मोबाइल एपलတတकेशन म⼁⼁ स耂ुवधाय⼁⼁ ह:ै

(a) 200 काल क怐တ सवु耂धा एपलတတकेशनम⼁⼁ दတတ गई है

(b) 耂शᰰᏰक अपनी समᄠတया के बार ेम⼁⼁ एस. एम. एस. भजे सकत ेहထነ और अपनी 耂शकायत  ዠတनवारण क怐တ िᄠတथዠတत जान
सकत ेहै

(c) वतेन पचᐚā इတတयाᘖᘏद को दखे सकत ेहထነ

 

a & b.

a & c.

b & c.

a, b & c.

Correct Answer :­b & c. 

9)

Question Stimulus :­

World Hindi Conference 2015 was held in which place?
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耂वႰ뀐व ᘖᘏहတတदတတ सတတमलेन 2015 कहा ँआयोिजत इआु था?

Bhopal./ भोपाल

Indore./ इदंोर

Jabalpur./ जबलपरु

Gwalior./ တတवा耂लयर

Correct Answer :­Bhopal./ भोपाल 

10)

Question Stimulus :­

Mark the correct statement regarding West Central Railway Zone

(a) Headquartered in Jabalpur, M.P.

(b) Became first railway zone in Indian railways to eliminate all unmanned level crossings.

पिႰ뀐Ⰱāम मတတय रले ᰰᏰတတ के 耂वषय म⼁⼁ सहတတ  耂वकဒ瀐प चዠတनए:

A. का मတႰयालय जबलपरु मတတय တတदशे म⼁⼁ है

B. भारतीय रलेव ेका पहला रले ᰰᏰတတ िजसन ेसभी मानव रᘖᘏहत रलेव ेတတो耂सग को समाတတत कर ᘖᘏदया

Only A./ केवल A

Only B. / केवल B

Both A & B./ A और B दोन삠ጀ

Neither A nor  B./ न A और न B हတတ

Correct Answer :­Both A & B./ A और B दोन삠ጀ 

Topic:­ General Maths
1)

Question Stimulus :­

There is 10% water in 100 liters mixture of milk and water. How much more water is to be added
to the mixture so that the resultant solution contains 25% water?

100 लတတटर दधू और पानी के 耂म䰥䰥ण म⼁⼁ 10 တတዠတतशत पानी ह।ै 耂कतना पानी ओर 耂मला ᘖᘏदया जाय ेिजसस ेउसका
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တတዠတतशत 耂म䰥䰥ण का 25 တတዠတतशत हो जाए?

15 litre/ 15 लတတटर

20 litre/ 20 लတတटर

10 litre/ 10 लတတटर

None of these/ इनम ेस ेकोई नहတတ

Correct Answer :­20 litre/ 20 लတတटर 

2)

Question Stimulus :­

10 years ago, the average age of a family of 5 members was 25 years. In the last 10 years 2 children
were born in the family. The family now has 7 members. If the present average age of the family is
27 years, then what is the age of the elder child if it is known that the elder child is 4 years older to
the younger one?

10 वषတတ पवूတတ पाचँ सदᄠတयीय पတတरवार क怐တ औसत आय ु25 वषတတ थी। वतတတमान म⼁⼁ उस पတတरवार म⼁⼁ सदᄠတय삠ጀ क怐တ सတႰया 7 ह,ै
뀐တय삠ጀ耂क इस बीच 2 बⰁāच삠ጀ का जတတम हआु ह।ै यᘖᘏद वतတတमान म⼁⼁ पတတरवार क怐တ औसत आय ु27 वषတတ ह ैऔर यᘖᘏद यह တတात है
耂क बड़ा बⰁāचा छोट ेबⰁāच ेस े4 वषတတ बड़ा ह ैतो बड़ ेबⰁāच ेक怐တ आय ु뀐တया होगी?

7 years/ 7 वषတတ

18 years/ 18 वषတတ

9 years/ 9 वषတတ

Can’t be determined/

ዠတनधाတတတတरत नहတတ 耂कया जा सकता।

Correct Answer :­9 years/ 9 वषတတ 

3)

Question Stimulus :­

There are 5 red and 7 blue balls in a bucket. If one ball is drawn at random from the bucket then
what is the probability that the ball drawn will be of red colour?

एक बाဒ瀐टတတ म⼁⼁ 5 लाल और 7 नीलတတ ग⼁⼁द⼁⼁ हထነ। यᘖᘏद हम उसम⼁⼁ स ेएक ग⼁⼁द बाहर ዠတनकालत ेहထነ तो उसके लाल रगं क怐တ होने
क怐တ 뀐တया सभंावना ह?ै
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Correct Answer :­  

4)

Question Stimulus :­

The height of a tree is 800cm and it increases 10% yearly. Find the height of the tree after three
years.

एक पडे क怐တ ऊँचाई 800 समेी ह ैऔर इसम⼁⼁ တတዠတतवषတတ 10 တတዠတतशत क怐တ व耂ृዐዠ होती ह।ै तीन वषတတ के बाद उसक怐တ ऊँचाई တတात
क怐တिजए।

1000 cm/ 1000 समेी

1060.4 cm/  1060.4 समेी

1052.6 cm/ 1052.6 समेी

1064.8 cm/ 1064.8 समेी

Correct Answer :­1064.8 cm/ 1064.8 समेी 

5)

Question Stimulus :­

By selling 27 meter cloth, a person earns selling price of 9 meter cloth as profit. Find his percentage
profit.

एक တႰयि뀐တत 27 मीटर कपड़ा बचेकर 9 मीटर कपड़ ेका 耂वတတय मဒ瀐य लाभ के ጃ̀प म⼁⼁ တတाတတत करता ह।ै उनके लाभ का
တတዠတतशत တတात कर⼁⼁।

33  %
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20%

50%

25%

Correct Answer :­50% 

6)

Question Stimulus :­

A principle becomes twice in 5 years. In how many years it will become 10 times?

एक मलूधन 5 वषတတ म⼁⼁ दोगनुा हो जाता ह ैतो वह 耂कतन ेवषတတ म⼁⼁ 10 गनुा हो जायगेा?

45 years/ 45 वषတတ म⼁⼁

25 years/ 25 वषတတ म⼁⼁

50 years/ 50 वषတတ म⼁⼁

None of these/ उपरो뀐တत म⼁⼁ स ेकोई नहတတं

Correct Answer :­45 years/ 45 वषတတ म⼁⼁ 

7)

Question Stimulus :­

In what ratio should the wheat that costs Rs.7.50 per kg, be mixed with the wheat that costs Rs.11
per kg so that the resultant mixture costs Rs.8.25 per kg?

7.50 ጃ̀ တတዠတत 耂कलो गहेूँ को 11 ጃ̀ တတዠတत 耂कलो गहेूँ के साथ 耂कस अनपुात म⼁⼁ 耂मलाया जाय ता耂क 耂म䰥䰥ण का मဒ瀐य 8.25
ጃ̀ တတዠတत 耂कलो ह?ै

8 : 5

9 : 7

11 : 3

10 : 3

Correct Answer :­11 : 3 

8)

Question Stimulus :­
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Following pie chart shows the modes of transport for 1000 students of a regional college of
engineering in Delhi.

The number of students who come college by car is what % of the number of students who come by train.

 

ዠတनတတन耂ल耂खत တတाफ रတတजनल कालजे ऑफ इजंीዠတनयတတरग ंᘖᘏदဒ瀐लတတ के 1000 छाတတ삠ጀ के पတတरवहन के साधन삠ጀ का 耂ववरण
ᘖᘏदखाता ह।ै

कार स ेआन ेवाल ेछाတတ삠ጀ क怐တ सတंႰया တတने स ेआन ेवाल ेछाတတ삠ጀ क怐တ सတႰया का 耂कतना တတዠတतशत ह?ै

200%

25%

150%

400%

Correct Answer :­400% 

9)

Question Stimulus :­

A train, running at a speed of 36 kmph, takes 60 seconds to cross an electric pole. How much time
it will take to cross a platform of length 250 meter?

36 耂कमी တတዠတत घटंाक怐တ चाल स ेचल रहတတ एक रलेगाड़ी 耂वᐵᓹयतु खबं ेको 60 सके⼁⼁ड म⼁⼁ पार करती ह ैतो 250 मीटर लबंे
တတलटेफामတတ को 耂कतन ेसमय म⼁⼁ पार करगेी?
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10 second / 10 सके⼁⼁ड

80 second / 80 सके⼁⼁ड

75 second / 75 सके⼁⼁ड

85 second / 85 सके⼁⼁ड

Correct Answer :­85 second / 85 सके⼁⼁ड 

10)

Question Stimulus :­

How many different 9 digit numbers can be formed by using digits 2, 2, 3, 3, 5, 5, 8, 8, 8 so that all
odd numbers occupy even places?

यᘖᘏद 耂वषम अकं केवल सम ᄠတथान삠ጀ पर आय ेतो 2, 2, 3, 3, 5, 5, 8, 8, 8 अकंो का उपयोग करत ेहएु 耂कतनी 9 अकंो
क怐တ अलग­ अलग सတႰयाए बनाई जा सकती ह?ै

Correct Answer :­  

11)

Question Stimulus :­

If A, B and C are odd numbers then which of the following is true?

यᘖᘏद A, B और C 耂वषम सတႰयाए ह ैतो ዠတनတတन耂ल耂खत म⼁⼁ स ेकौन सा सတတय ह?ै

(A+B)  (B+C) (C+D) is odd /(A+B) (B+C) (C + D)耂वषम है

AB + BC + AC is even / AB + BC  + AC सम है
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A2 + B2 + C2  is odd / A2 + B2 + C2耂वषम है

ABC + BCA + CBA is even / ABC + BCA + CAB सम है

Correct Answer :­A2 + B2 + C2  is odd / A2 + B2 + C2耂वषम ह ै

12)

Question Stimulus :­

While typing, Vipin is four times as fast as Harish and Harish is thrice as fast as Shailendra.
Shailendra takes 156 minutes to type an article. How much time Vipin will take?

टाइप करत ेसमय 耂व耂पन हरတတश स ेचार गनुा तजे ह ैऔर हरတတश, शलैတेတတတ स ेतीन गनुा तजे ह।ै यᘖᘏद शलैတेတတတ एक
आᘖᘏटတတकल को टाइप करन ेम⼁⼁ 156 耂मዠတनट लतेा ह ैतो 耂व耂पन को 耂कतना समय लगगेा?

10 minutes./10 耂मनट

18 minutes / 18 耂मनट

13 minutes / 13 耂मनट

20 minutes / 20 耂मनट

Correct Answer :­13 minutes / 13 耂मनट 

13)

Question Stimulus :­

A student has been asked to find the square root of a number. Instead of finding the square root
he, squared the given number. If his incorrect answer was 216 times of the correct answer, find the
product of the digits of the number.

耂कसी छाတတ को एक सတႰया का वगတတमलू တတात करन ेको कहा गया ल耂ेकन उसन ेगलती स ेउस सတႰया का वगတတ ዠတनकाल
ᘖᘏदया। यᘖᘏद गलत उတတतर सहတတ उတတतर स े216 गनुा हो, तो सတႰया के अको का गणुनफल တတात कर⼁⼁।

10

20

15

18

Correct Answer :­18 
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14)

Question Stimulus :­

Find the largest number that can divide the product of any set of four consecutive positive even
integers.

चार लगातार धनाတတमक सम सᄠတथान के တတတတयके समहू को पणूတတतः 耂वभािजत करन ेवालတတ सबस ेबड़ी सတႰया တတात कर⼁⼁।

48

144

124

Can’t be determined /  ዠတनधाတတတတरत नहတတ 耂कया जा सकता।

Correct Answer :­48 

15)

Question Stimulus :­

This question is followed by two statements A and B. Indicate your responses based on the given
information?

 

Find the total number of students present, today, in class X,.

Statement A:Number of boys in class 10th are 60% of the number of student in the class.

Statement B:  Number of boys absent today is 60% of the number of students absent in the class

 

इस တတႰ뀐न म⼁⼁ दो कथन A और B ᘖᘏदय ेहएु हထነ। अपनी တတዠတत耂တတया को ᘖᘏदय ेहएु 耂वकဒ瀐पो के आधार पर अ耂ंकत कर⼁⼁?

कᰰᏰा 10 म⼁⼁ आज उपिᄠတथत 耂वᐵᓹया耂थတတय삠ጀ क怐တ कुल सတႰया တတात कर⼁⼁।

कथन A : कᰰᏰा 10 म⼁⼁ कुल 耂वᐵᓹया耂थတတय삠ጀ का 60 တတዠတतशत लड़के हထነ।

कथन B : कᰰᏰा 10 म⼁⼁ आज अनपुिᄠတथत 耂वᐵᓹया耂थတတय삠ጀ म⼁⼁ 60 တတዠတतशत लड़के हထነ।

If a question can be answered by using Statement A alone but not by using Statement B
alone./

यᘖᘏद တတႰ뀐न का उတတतर केवल कथन A के उपयोग स ेᘖᘏदया जा सके परတတत ुकथन B के उपयोग स ेनहတတ।ं

If a question can be answered by using Statement B alone but not by using Statement A
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alone./

यᘖᘏद တတႰ뀐न काउတတतर केवल कथन B के उपयोग स ेᘖᘏदया जा सके परတတत ुकथन A के उपयोग स ेनहတတ।ं

If the question can be answered by using statement A and statement B together but not by
using either statement A or statement B alone./

यᘖᘏद တတႰ뀐न का उတတतर कथन A और कथन B के एक साथ उपयोग स ेᘖᘏदया जा सके परတတत ु耂कसी भी एक
कथन A या B के उपयोग स ेनहတတ।ं

If the question cannot be answered even by using statement A and statement B together./

यᘖᘏद တတႰ뀐न का उတတतर दोनो कथनो A और B के एक साथ उपयोग स ेभी न ᘖᘏदया जा सक⼁⼁।

Correct Answer :­If the question cannot be answered even by using statement A and statement B
together./ यᘖᘏद တတႰ뀐न का उတတतर दोनो कथनो A और B के एक साथ उपयोग स ेभी न ᘖᘏदया जा सक⼁⼁। 

Topic:­ General Science
1)

Question Stimulus :­

What is the unit of Viscosity ?

Ⴐ뀐यानता क怐တ  इकाई 뀐တया ह?ै

Pascal/ पाᄠတकल

Pascal second/ पाᄠတकल सकेंड

Pascal metre/ पाᄠတकल मीटर

Kilogram/ 耂कलोတတाम

Correct Answer :­Pascal second/ पाᄠတकल सकेंड 

2)

Question Stimulus :­

Which device transforms sound energy into electrical energy?

कौन सा यတတ တတवዠတन ऊजाတတ को 耂वᐵᓹयतु ऊजाတတ म⼁⼁ पတတरवዠတतတတत करता ह?ै

Loudspeaker/ တတवዠတन 耂वᄠတतारक यတတ
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Microphone/ माइတတोफोन

Solar cell/ सौर सले

Dynamo/ डायनमेो

Correct Answer :­Microphone/ माइတတोफोन 

3)

Question Stimulus :­

The change in wavelength occurs when light is scattered by the atoms or molecules in a
transparent medium. This statement states which theory or scientific law?

पारदशᐚā माတတᨁāम स ेअणओु ंया कण삠ጀ का ऊजाတတ 耂वतरတတकरण के कारण तरगं लတတबाईय삠ጀ का पတတरवतတတन घᘖᘏटत होता ह ै।
यह कथन 耂कस 耂सዐዠाတတत या वတတाዠတनक ዠတनयम को अ耂भတႰय뀐တत करता ह?ै

Raman effect/ रमण တတभाव

Tyndall effect/ ᘖᘏटडंाल တတभाव

Pauli exclusion principle/ पाउलတတ अपवजတတन 耂सዐዠाတတत

Newton’s Law/ တတयटून का ዠတनयम

Correct Answer :­Raman effect/ रमण တတभाव 

4)

Question Stimulus :­

RADAR is used for ?

रडार 耂कस के 耂लए တတयोग 耂कया जाता ह?ै

locating submerged submarines/ जलमတတन पनडुတတबी का ᄠတथापन

receiving a signals in a radio receiver/ र耂ेडयो တတरसीवर म⼁⼁ सकंेत တတाတတत करना

locating geostationary satellites/ भिूᄠတथर उपတတह삠ጀ का ᄠတथापन

detecting and locating the position of objects such as aeroplanes/ हवाई जहाज जसै ेवᄠတतओुं
को खोजना और ᄠတथापन
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Correct Answer :­detecting and locating the position of objects such as aeroplanes/ हवाई
जहाज जसै ेवᄠတतओु ंको खोजना और ᄠတथापन 

5)

Question Stimulus :­

What will be the name of a mixture of Ethanol containing 5% water?

5% पानी य뀐တत इथनेॉल 耂कस नाम स ेजाना जाता ह?ै

Rectified spirit/ र뀐ेတटတတफाइट िᄠတपတတरट

Ethane hydroxide/ ईथने हाइတတॉ뀐တसाइड

Ethanoic acid/ एथानोईक ए耂सड

Ethane/ इथने

Correct Answer :­Rectified spirit/ र뀐ेတटတတफाइट िᄠတपတတरट 

6)

Question Stimulus :­

The most electronegative element among the following is?

ዠတनတတन耂ल耂खत म⼁⼁ स ेसबस ेऋणाတတमक तတတव ह:ै

Sodium/ सो耂डयम

Bromine/ တတो耂मन

Fluorine/ တတलोरတတन

Oxygen/ ऑ뀐တसीजन

Correct Answer :­Fluorine/ တတलोरတတन 

7)

Question Stimulus :­

In which of the following Container radioactive materials should be stored ?
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र耂ेडयोध耂मတတता सामတတी को ዠတनတတन म⼁⼁ 耂कस आधान म⼁⼁ सတंတह करना चाᘖᘏहए ?

Lead/ सीसा

Sodium/ सो耂डयम

Titanium/ टाइटዠेတनयम

Copper/ ताတတ

Correct Answer :­Lead/ सीसा 

8)

Question Stimulus :­

Which element forms the highest number of compounds in the periodic table?

आवतတတ सारणी म⼁⼁ कौन सा तတတव उⰁāचतम यौ耂गक क怐တ सတႰया बनाता ह?ै

Silicon/ 耂स耂लकॉन

Carbon/ काबတတन

Oxygen/ ऑ뀐တसीजन

Phosphorous/ फाᄠတफोरस

Correct Answer :­Carbon/ काबတတन 

9)

Question Stimulus :­

Which one is the ore of Antimony?

एिတတटमोनी का अयᄠတक कौन सा ह?ै

Pyrolusite/ परैोलसुाइट

Stibnite/ िᄠတटबनटै

Potash/ पोटाश

Chromite/ တတोमाइट
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Correct Answer :­Stibnite/ िᄠတटबनटै 

10)

Question Stimulus :­

The oxide of Nitrogen used in medicine as anaesthetic is?

बहेोशी क怐တ दवा के耂लए  उपय뀐တत  नाइတတोजन के ऑ뀐တसाइड का नाम 뀐တया ह?ै

Nitrogen pentoxide/ नाइတတोजन पတेတटो뀐တसाइड

Nitrous oxide/ नाइတတस ऑ뀐တसाइड

Nitric oxide/ नाइᘖᘏတတक ऑ뀐တसाइड

Nitrogen dioxide/ नाइတတोजन डाइऑ뀐တसाइड

Correct Answer :­Nitrogen pentoxide/ नाइတတोजन पတेတटो뀐တसाइड 

11)

Question Stimulus :­

Mark the incorrect matched pair:

गलत 耂मलान जोडी को 耂ल耂खए:

normal heart beat at rest – 72 beats per minute/ सामाတတय ᘖᘏदल का धडकन တတዠတत 耂मनट -72
धड़कन

Largest Vein – Inferior vena cava/ सबस ेबड़ी नस ­ इिတတफरတတअर  काव

Longest cells – neurons/ सबस ेलबंी को耂शका - တတयरूॉन

thinnest skin – lips/ सबस ेपतलတတ တတवचा - ह삠ጀठ

Correct Answer :­thinnest skin – lips/ सबस ेपतलတတ တတवचा - ह삠ጀठ 

12)

Question Stimulus :­

What is the use of Phosphorous in the human body?

A.  Maintain water balance.
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B. Repair cells.

C. Component of DNA and RNA.

मानव शरတတर म⼁⼁ फाᄠတफोरस का 뀐တया उपयोग ह?ै

अ. पानी सतंलुन बनाए रखना

आ. को耂शकाओ ंक怐တ मरတတमत करना

इ. डी एन ए और आर एन ए का घटक

Only A/ केवल अ

B and C/ आ और इ

A and C/ अ और इ

A,B and C/ अ, आ और इ

Correct Answer :­B and C/ आ और इ 

13)

Question Stimulus :­

Kidneys are vital organs of the body because they help in?

A. Regulation of body fluids.

B. Regulation of acid‐base balance.

C. Removal of metabolic wastes.

गदुाတတ शरတတर का महတတवपणूတတ अगं ह ै뀐တय삠ጀ耂क उसक怐တ सहायता स?े

अ. शरတတर के तरल पदाथတတ को ዠတनय耂मत करत ेहै

आ. अတတल ᰰᏰार सतंलुन को ዠတनय耂मत करत ेहै

इ. चयापचयी अप耂शႰ뀐ट को हटाना

Both A and B/ अ और आ

Both B and C/ आ और इ
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Both A and C/ अ और इ

A.B and C/ अ, आ और इ

Correct Answer :­A.B and C/ अ, आ और इ 

14)

Question Stimulus :­

Which is the largest gland in the human  body?

मानव शरတတर म⼁⼁ सब स ेबडी တတ耂ंथ कौन सा ह?ै

Lungs/ फेफड़ा

Liver/ कलजेा

Pitutary gland/ पीयषू တတ耂ंथ

Kidney/ गदुाတတ

Correct Answer :­Liver/ कलजेा 

15)

Question Stimulus :­

Common cold, Influenza, Chickenpox and Measles are caused due to the attack of:

耂कन के आတတमण के कारण आम सदᅁ䅀 जकुाम चचेक और खसरा होता ह ै?

Virus only/ केवल 耂वषाणु

Bacteria only/ केवल जीवाणु

Protozoa only/ केवल တတजीवगण

Both virus and bacteria/ 耂वषाण ुऔर जीवाणु

Correct Answer :­Virus only/ केवल 耂वषाण ु

Topic:­ General Hindi
1)
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Question Stimulus :­

रस 耂सዐዠाတတत के आᘖᘏद တတवतတတक कौन हထነ?

भरत मዠတन

भानदुတတत

耂वႰ뀐वनाथ

भामह

Correct Answer :­भरत मዠတन 

2)

Question Stimulus :­

राजा का 耂वलोम इनम⼁⼁ स ेनहတတ ंह-ै

တတजा

सनेापዠတत

रकं

रानी

Correct Answer :­सनेापዠတत 

3)

Question Stimulus :­

बहवुचन चዠတनए-

सदတတ

महတတना

छाया

धዠတनक

Correct Answer :­छाया 

4)
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Question Stimulus :­

रा䰁ఁတတ म⼁⼁ चलन े耂फरन ेवाला ________ कहलाता ह।ै

ዠတनराकार

ዠတनरापद

ዠတनशाचर

इनम⼁⼁ स ेकोई नहတတ।ं

Correct Answer :­ዠတनशाचर 

5)

Question Stimulus :­

‘मတတद ब耂ुዐዠ ह ैिजसक怐တ’ सामािजक पद बनाओ।

मदंगዠတत

मदंब耂ुዐዠ

मदं चाल

मत वाला

Correct Answer :­मदंब耂ुዐዠ 

6)

Question Stimulus :­

सहတတ वतတတनी वाला शတတद-

बजृभाषा

တတजभाषा

䰥䰥जभाषा

बတတभाषा

Correct Answer :­တတजभाषा 

7)
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Question Stimulus :­

गणु ᄠတवर स耂ंध का उदाहरण ह-ै

ᄠတवयတတभू

नदတတश

ᄠတवातगत

महोတတसव

Correct Answer :­महोတတसव 

8)

Question Stimulus :­

耂कस वगတတ म⼁⼁ सहတတ शတတद पयाတတय नहတတ ंहထነ ?

तषुार, तᘖᘏहम, ᘖᘏहम,  बफတတ

सवुणတတ, कनक, ᘖᘏहरတတय, हमे

पय, धने,ु पद, सरु

दबुတတल, कमजोर, बलहတတन, कृष

Correct Answer :­पय, धने,ु पद, सरु 

9)

Question Stimulus :­

वीभတတस रस का ᄠတथाई भाव ह-ै

ዠတनवဒद

耂वᄠတमय

တတोध

जगुတတसा

Correct Answer :­जगुတတसा 

10)
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Question Stimulus :­

‘‘တႰयथတတ တတयास’’ भाव တႰय뀐တत करन ेवाला महुावरा ह?ै

कुँआ खोदना

अरတတय रोदन

कल पड़ना

पတတथर पसीजना

Correct Answer :­अरတတय रोदन 

11)

Question Stimulus :­

ዠတनတတन म⼁⼁ स ेअတႰययी भाव समास कौन सा ह?ै

नवरတတन

नीዠတत ዠတनपणु

जတတमजात

တတዠတतᘖᘏदन

Correct Answer :­တတዠတतᘖᘏदन 

12)

Question Stimulus :­

एक स ेअ耂धक उपसग   स ेबना ह।ै

असरु耂ᰰᏰत

अတတयाचार

अधकचय

पयाတတवरण

Correct Answer :­पयाတတवरण 
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13)

Question Stimulus :­

"उတတह삠ጀन ेराह म⼁⼁ काटँ े䰁ఁबखरे ᘖᘏदय ेऔर ᄠတवय ंकुंज क怐တ ओट म⼁⼁ ዠတछप गय"े, वा뀐တय का कौन सा တတकार ह?ै

साधारण वा뀐တय

असाधारण वा뀐တय

सयं뀐တत वा뀐တय

耂म耂䰥䰥त वा뀐တय

Correct Answer :­सयं뀐တत वा뀐တय 

14)

Question Stimulus :­

उတတकृႰ뀐ट का पयाတတयवाची ह।ै

उ耂चत

တတकृႰ뀐ट

आဒ瀐पके

उदाတတत

Correct Answer :­တတकृႰ뀐ट 

15)

Question Stimulus :­

दोहा के 耂वषम चरणो म⼁⼁ 耂कतनी माတတाय⼁⼁ होती ह ै?

सात

नौ

တတयारह

तरेह

Correct Answer :­तरेह 
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Topic:­ General English
1)

Question Stimulus :­

DIRECTION: Choose the option that can be substituted for the given sentence.

A thing that is kept as a reminder of a person , place or event.

Trophy.

Certificate.

Remembrance.

Souvenir.

Correct Answer :­Souvenir. 

2)

Question Stimulus :­

DIRECTIONS: Choose the option that can be substituted for the given sentence.

Something that is spoken or done without preparation.

Experiment.

Extempore.

Trial.

Research.

Correct Answer :­Extempore. 

3)

Question Stimulus :­

What will be the synonym of the word ‘fantasy’?

Pleasure.

Fun.

Imagination.

Entertainment.

Correct Answer :­Imagination. 
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4)

Question Stimulus :­

What will be the antonym of the word ‘Lenient’?

Strict.

Flexible.

Circular.

Liberal.

Correct Answer :­Strict. 

5)

Question Stimulus :­

Choose grammatically correct sentence out of the given sentences:

A number of teams are taking part in the world cup.

The higher you go, colder it is.

Which is more beautiful of the two sisters?

Kalidas is Shakespeare of India.

Correct Answer :­A number of teams are taking part in the world cup. 

6)

Question Stimulus :­

DIRECTIONS: In the following questions, four alternatives are given for the Idiom/Phrase printed in
italics. Choose the alternative which best expresses the meaning of the Idiom/Phrase.

When jenny signed the contract she didn’t have the slightest idea that she had opened Pandora’s
box.

to get a treasure by chance.

to come across a lot of marvellous things.

to step into a fanciful world.

to get into great troubles and problems.

Correct Answer :­to get into great troubles and problems. 
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7)

Question Stimulus :­

DIRECTIONS: In the following question, four alternatives are given for the Idiom/Phrase printed in
italics. Choose the alternative which best expresses the meaning of the Idiom/Phrase.

The general manager got early retirement and thousand­dollar  golden handshake when the
company was restructured.

a warm farewell.

a coin of gold as a token.

a trophy for remembrance.

a large sum of money when they leave.

Correct Answer :­a large sum of money when they leave. 

8)

Question Stimulus :­

DIRECTIONS: In the following question four words are given.  Find the correctly spelt word.

 

Humoros.

Humorous.

Humerous.

Humeros.

Correct Answer :­Humorous. 

9)

Question Stimulus :­

DIRECTIONS: In the following question  four words are given. Find the correctly spelt word.

 

Achivments.

Achievments.

Achivements.

Achievements.
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Correct Answer :­Achievements. 

10)

Question Stimulus :­

DIRECTIONS: Fill in the blanks with the right prepositions.

Nancy has been sleeping ____ two hours.

for

since

from

till

Correct Answer :­for 

11)

Question Stimulus :­

DIRECTIONS: Fill in the blank with correct preposition.

The reception will be held _____ 5 p.m. and 9 p.m.

by

till

from

between

Correct Answer :­between 

12)

Question Stimulus :­

DIRECTIONS: Out of the given options, which will be the correct passive form of the given sentence?

Professor Hudson is going to make a speech next month.

 A speech is going to be made by professor Hudson next month.

Professor Hudson will make a speech next month.

A speech shall be made by professor Hudson next month.

A speech will  made by professor Hudson next month.
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Correct Answer :­ A speech is going to be made by professor Hudson next month. 

13)

Question Stimulus :­

DIRECTIONS: Choose the correct article.

My aunt saw ____ one eyed man standing in her balcony.

an

the

a

 No article required.

Correct Answer :­a 

14)

Question Stimulus :­

DIRECTIONS: Choose the option that has the correct form of indirect speech.

William said, “My master is writing a book”.

William said that his master is writing a book.

William said that his master was writing a book.

William said that his master had been writing a book.

William said that his master is being writing a book.

Correct Answer :­William said that his master was writing a book. 

15)

Question Stimulus :­

DIRECTIONS: Arrange the following options to get a meaningful paragraph.

(A) But, if used carelessly.

(B) The careless use of words may create an enemy.

(C) Speech is a valuable gift.

(D) May cause misunderstanding.

CBAD.
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CADB.

BCAD.

BACD.

Correct Answer :­CADB. 

Topic:­ General Computer Knowledge
1)

Question Stimulus :­

What is the full form of MICR?

 MICR का परूा नाम 뀐တया हထነ?

Magnetic Ink case recognition./ मတेတनᘖेᘏटक इकं केस တတरकगዠတनशन

Magnetic Ink character recognition./ मတेတनᘖेᘏटक इकं कैर뀐ेတटर တတरकगዠတनशन

Magnetic Ink code recognition./ मတेတनᘖेᘏटक इकं कोड တတरकगዠတनशन

Main Ink Code recognition./ मने इकं कोड တတरकगዠတनशन

Correct Answer :­Magnetic Ink character recognition./ मတेတनᘖेᘏटक इकं कैर뀐ेတटर တတरकगዠတनशन 

2)

Question Stimulus :­

Which technology is used in compact Disks?

 काတတप뀐ेတट­耂डᄠတक म⼁⼁ कौन सी तकनीक उपयोग क怐တ जाती हထነ?

Laser./ लजेर

Mechanical./ मकैेዠတनकल

Electrical./ इलिे뀐တတတकल

Electro magnetic./ इल뀐ेတတတो मတेတनᘖेᘏटक

Correct Answer :­Laser./ लजेर 

3)

Question Stimulus :­
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Different components of the mother board of a personal computer unit are linked together by sets of
parallel electrical conducting lines, these lines are called as:

 पसတတनल कတတတတयटूर यዠတनट क怐တ मदर बोडတတ के अलग­अगल कတတपोनတेတट (घटक), कတတसी뀐တयᘖᘏटव समानတတतर इलिे뀐တတတकल सचंा耂लत
तार आपस म⼁⼁ 耂कसके ᐵᓹवारा जड़ु ेहोत ेहထነ?

Conductor./ कတတड뀐တटर

Bus./ बस

Connector./ कन뀐ेတटर         

Consecutive. / कတတसी뀐တयᘖᘏटव

Correct Answer :­Bus./ बस 

4)

Question Stimulus :­

Which was the first electronic computer?

 पहला इल뀐ेတတတाेዠတनक कတတတတयटूर कौन सा था?

ENIAC

MARK­1

Z3

ABC

Correct Answer :­ENIAC 

5)

Question Stimulus :­

The computer program that converts an entire program into machine language is called?

 कौन सा कတတတတयटूर တတोတတाम परू ेတတोတတाम को मशीन लထነတတवजे म⼁⼁ पတတरवतတတन करता हထነ?

Inter prater/ इटंरတတटेर

Simulator/ 耂समलूटेर

Compiler/ कတတपाइलर

Commander/ कमाडंर
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Correct Answer :­Compiler/ कတတपाइलर 

6)

Question Stimulus :­

Which of the following was the first microprocessor built by the Intel corporation?

 ዠတनတတन म⼁⼁ स ेकोन सा पहला माइတတोတတोससेर इटंले कारपोरशेन ᐵᓹवारा बनाया गया?

 8008

8080

4004

8800

Correct Answer :­4004 

7)

Question Stimulus :­

Which of the following is a non ­ volatile memory?

ዠတनတတन म⼁⼁ स ेकौन सी नान­वालटेाइल ममेोरတတ ह?ै

DRAM

SRAM

ROM

RAM

Correct Answer :­ROM 

8)

Question Stimulus :­

Which shortcut key is used to select the entire document in MS Word ?

 एम एस. वडတတ म⼁⼁ परू ेदᄠတतावजे को चनुन ेके 耂लए उपयोग 耂कया जाता हထነ?

Alt + A

Shift + A

Ctrl + A
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Enter + A

Correct Answer :­Ctrl + A 

9)

Question Stimulus :­

Which shortcut key is used to close the opened window?

 कጮŌन स ेकुंजी यတတम (key combination) को 耂वတတडो बदं करन ेके 耂लए उपयोग 耂कया जाता हထነ?

Ctrl + F1

Alt + F2

Ctrl + F4

Alt + F4

Correct Answer :­Alt + F4 

10)

Question Stimulus :­

In MS Word By using which option can we send a common letter is to be sent for more than one  person?

 एक स ेअ耂धक တႰयि뀐တत को एक कामन अᰰᏰर भजेन ेके 耂लए उपयोग 耂कया जाता हထነ?

Envelop. एတတवलेप

Mail merge/ मलेमजတတ

Label/ लबेल

Merge and Finish/ मजတတ एडं 耂फዠတनश

Correct Answer :­Mail merge/ मलेमजတတ 

11)

Question Stimulus :­

Which of the following is the Impact Printer?

 ዠတनတတन म⼁⼁ स ेकौन सा इတတप뀐ेတट 耂တတटंर हထነ?

Daisy wheel Printer./ डजेी Ⰱāहरन 耂တတटंर
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Ink jet Printer ./ इकं जटे 耂တတटंर

Laser printer./ लजेर 耂တတटंर

 Thermal Printer / थमတတल  耂တတटंर

Correct Answer :­Daisy wheel Printer./ डजेी Ⰱāहरन 耂တတटंर 

12)

Question Stimulus :­

Which shortcut key is used to select an entire column in M S Excel?

(M S Excel) एम.एस. ए뀐တसल म⼁⼁ कौन सा शाटတတकट क怐တ परू ेकालम को चनुन ेके उपयोग होता हထነ?  

Ctrl + Enter

Ctrl + Space

Ctrl + Alt

Ctrl + Shift

Correct Answer :­Ctrl + Space 

13)

Question Stimulus :­

Which of the following is not used for computer memory measurement?

 ዠတनတတन म⼁⼁ स ेकौन सा कंတတयटूर ᄠတमዠတत को मापन ेके 耂लए इᄠတतमेाल नहတတ ं耂कया ह?ै

Nibble

 Byte

 MIPS

Bit

Correct Answer :­ MIPS 

14)

Question Stimulus :­

Which one of the following was the first computer network?
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 ዠတनတတन म⼁⼁ स ेकौन सा တတथम नटेवकတတ हထነ?

CNNET

NSF NET

ASAPNET

ARPANET

Correct Answer :­ARPANET 

15)

Question Stimulus :­

For an internet connection which of the following device is required?

 इटंरनटे कन뀐ेတशन के 耂लए कौन सी 耂डवाइस उपयोग क怐တ जाती हထነ?

Mouse/ माउस

Modem/ मोडमे

Printer/ 耂တတटंर

Scanner/ ᄠတकेनर

Correct Answer :­Modem/ मोडमे 

Topic:­ Reasoning
1)

Question Stimulus :­

In the given question, two words are given such that they have a relation to each other followed by
four lettered pair of words. Select the lettered pair that has the same relationship as the original
pair of words.

Crazy : Sane

 ᘖᘏदय ेहएु တတႰ뀐 न म⼁⼁ दो शတတ द इस तरह स ेᘖᘏदय ेहएु हထነ 耂क उनम⼁⼁ आपस म⼁⼁ कुछसबंधं ह।ै इसके बाद शတတ द삠ጀ
के चार यတတ म ᘖᘏदय ेगय ेहထነ। ऐसा शတတ द यတတ म चዠတनए िजनम⼁⼁ वहတတ सबंधं हो जो मलू शတတ द यတတ म म⼁⼁ ह।ै

पागल : समझदार

Courteous : Gracious / शालတတन : दयालू
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Gloomy : Cheerful / दखुी : आनिတတ दत

Cunning : Polite / चालाक : 耂वनတတ

Affect : Effect / တတभा耂वत : တတभाव

Correct Answer :­Gloomy : Cheerful / दखुी : आनिတတ दत 

2)

Question Stimulus :­

Identify which number is wrong in the given series

4, 4, 8, 24, 95, 480, 2880

 

दတတ हईु 䰥䰥णेी म⼁⼁ गलत सတႰ या को पहचान।े

4, 4, 8, 24, 95, 480, 2880

95

24

480

4

Correct Answer :­95 

3)

Question Stimulus :­

What will come next in the following series?

BBCBCDBCDEBCDEFBCDEFGBCDEFG

 

ዠတनတတ न耂ल耂खत अᰰᏰर 䰥䰥णेी म⼁⼁ अगला अᰰᏰर 뀐တ या होगा?

BBCBCDBCDEBCDEFBCDEFGBCDEFG

H

F

E
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None of these/ इनम ेस ेकोई नहတတ

Correct Answer :­H 

4)

Question Stimulus :­

In a certain code language WINDOW is coded as YMFLKU. How will LADDER be coded in same
language?

 耂कसी कूट भाषा म⼁⼁ WINDOW को YMFLKU 耂लखा जाता ह।ै उसी कूट भाषा म⼁⼁ LADDER को 뀐တ या 耂लखा
जाएगा?

PGBFYN

NYFBGP

MBEEFS

TCFBCJ

Correct Answer :­TCFBCJ 

5)

Question Stimulus :­

In certain code language ‘nu ku pu’mean ‘who are you’, ‘ku lu tu du’ means ‘you may come here’.
What does ‘nu’ means in that code language?

 

耂कसी कूट भाषा म⼁⼁ ‘nu ku pu’का अथတတ ह,ै‘who are you’, और ‘ku lu tu du’ का अथတတ ह ै‘you may
come here’.

उसी कूट भाषा म⼁⼁ ‘nu’ का अथတတ뀐တयाहोगा?

how

who

wee

who or are

Correct Answer :­who or are 

6)
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Question Stimulus :­

Study the following arrangement and answer the question given below:

R A @ 4 2 L M 9 # 7 & 3 5 J % 6 T

How many such symbols are there in the above arrangement, each of which is immediately
preceded by a letter and followed by a number?

 

ዠတनတတ न耂ल耂खत တႰयवᄠတथा का सावधानी पवूတတक अတတ ययन कर⼁⼁और नीच ेᘖᘏदए गय ेတတႰ뀐 न का उတတ तर द।े 

R A @ 4 2 L M 9 # 7 & 3 5 J % 6 T

उपरो뀐တ त တႰ यवᄠတ था म⼁⼁ 耂कतन ेऐस ेसकंेत हထነ िजनके तरुतं पहल ेएक अᰰᏰर और तरुतं बाद एक अकं ह।ै

1

3

2

None of these / इनम⼁⼁ स ेकोई नहတတ

Correct Answer :­2 

7)

Question Stimulus :­

Study the following arrangement and answer the question given below:

R A @ 4 2 L M 9 # 7 & 3 5 J % 6 T

How many letters are there in the arrangement?

 

ዠတनတတ न耂ल耂खत တႰयवᄠတथा का सावधानी पवूတတक अတတ ययन कर⼁⼁और नीच ेᘖᘏदए गय ेတတႰ뀐 न का उတတ तर द।े 

R A @ 4 2 L M 9 # 7 & 3 5 J % 6 T

တႰ यवᄠတ था म⼁⼁ 耂कतन ेअᰰᏰर हထነ?

6

7

11
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15

Correct Answer :­6 

8)

Question Stimulus :­

Study the following arrangement and answer the question given below:

R A @ 4 2 L M 9 # 7 & 3 5 J % 6 T

How many such letters are there which are immediately followed by a symbol?

 

ዠတनတတ न耂ल耂खत တႰयवᄠတथा का सावधानी पवूတတक अတတ ययन कर⼁⼁और नीच ेᘖᘏदए गय ेတတႰ뀐 न का उတတ तर द।े 

R A @ 4 2 L M 9 # 7 & 3 5 J % 6 T

ऐस े耂कतन ेअᰰᏰर हထነ िजनके तरुतं बाद सकंेत ह?ै

3

1

2

None of these / इनम⼁⼁ स ेकोई नहတတ

Correct Answer :­2 

9)

Question Stimulus :­

Study the following arrangement and answer the questions given below:

R A @ 4 2 L M 9 # 7 & 3 5 J % 6 T

How many such symbols and letters are there in total in the given arrangement which are
immediately preceded by a letter ?

 

ዠတनတတ न耂ल耂खत တႰयवᄠတथा का सावधानी पवूတတक अတတ ययन कर⼁⼁ और नीच ेᘖᘏदए गय ेတတႰ뀐 न का उတတ तर द।े 

R A @ 4 2 L M 9 # 7 & 3 5 J % 6 T

ऐस े耂कतन ेसकंेत हထነ िजनके तरुतं पहल ेअᰰᏰर ह?ै
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6

2

4

5

Correct Answer :­2 

10)

Question Stimulus :­

If P × Q means P is daughter of Q.

P + Q means P is husband of Q.

P – Q means P is sister of Q.

Then what does P + Q – R × S means?

 

यᘖᘏदP × Q का अथတတ ह,ै P,Q क怐တ पတတी ह।ै

P + Q का अथတတ ह,ै P, Q का पዠတत ह।ै

P – Q का अथတတ ह,ै P, Q क怐တ बहन ह।ै

तो P + Q – R × S का 뀐တ या अथတတ होगा ?

P is brother of R/ P,Rका भाई ह ै       

P is uncle of S / P,S का चाचा है

S is mother­in­law of Q / S,Q क怐တ सास है

P is son­in­law of S / P,S का दामाद ह।ै

Correct Answer :­P is son­in­law of S / P,S का दामाद ह।ै 

11)

Question Stimulus :­

In the question below, there are two statements followed by conclusions numbered I, II, III and IV.
You have to take the given statements to be true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusions logically follow(s) from the given
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statements.

Statements:

(A)  No trees are sharks.

(B)   No sharks are balloons.

Conclusions:

I.     All balloons are sharks. 

II.    All balloons are trees.

III.   Some trees are balloons.

IV.   No tree is a balloon.

 

नीच ेᘖᘏदय ेगय ेတတႰ뀐 न म⼁⼁ A और B दो कथन हထነऔर उसके बाद I, II, III और IV  ዠတनႰ뀐 कषတတ ᘖᘏदय ेगय ेहထነ। आपको ᘖᘏदये
गए कथन삠ጀ को सတတ य मानना ह,ै भल ेहတတ व े सवတတတတात तᅐတ य삠ጀ स े耂भတတ न ह삠ጀ। सभी ዠတनႰ뀐 कषတတ पᘖᘏढ़य े耂फर तय क怐တिजए
क怐တकौनसातकတတ ᘖᘏदए गय ेकथन삠ጀ का अनसुरण करता ह।ै

कथन:

(A)  कोई पड़े शाकတတ नहတတ ह।ै

(B)   कोई शाकတတ गတတ बारा नहတတ ह।ै

ዠတनႰ뀐 कषတတ:

I.     सभी गတတ बार ेशाकတတ हထነ ।

II.    सभी गတတ बार ेपड़े हထነ।

III.   कुछ पड़े गတတ बार ेहထነ।

IV.   कोई पड़े गတတ बारा नहတတ ह।ै

Only I follows/ केवल I अनसुरण करता ह।ै

Only II & III follow / केवलII और III अनसुरण करत ेहထነ।

Only either I or III follows / या तो केवल I या III अनसुरण करता ह।ै
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Only either III or IV follows / या तो केवल III या IV अनसुरण करता ह ै।

Correct Answer :­Only either III or IV follows / या तो केवल III या IV अनसुरण करता ह ै। 

12)

Question Stimulus :­

In the each question below, there are two statements followed by conclusions numbered I, II, III
and IV. You have to take the given statements to be true even if they seem to be at variance with
commonly known facts and then decide which of the given conclusions logically follow(s) from the
given statements.

Statements:

(A)  All girls are cute.              

(B)   Some cute are westernized.

Conclusions:

I.     Some cute are girls.       

II.    No cute is a girl.

III.   Some westernized are girls.                       

IV.   All westernized are girls.

 

नीच ेᘖᘏदय ेगय ेတတႰ뀐 न म⼁⼁ दो कथन और उसके बाद I, II, III और IV  ዠတनႰ뀐 कषတတ ᘖᘏदय ेगय ेहထነ। आपको ᘖᘏदय ेगए कथन삠ጀ को
सတတ य मानना ह,ै भल ेहတတ व े सवတတတတात तᅐတ य삠ጀ स े耂भတတ न ह삠ጀ। सभी ዠတनႰ뀐 कषတတ पᘖᘏढ़य े耂फर तय क怐တिजए क怐တ ᘖᘏदए गय ेकथन삠ጀ
का तकတတ सगंत 〰〰प स ेअनसुरण करता ह।ै

कथन:

(A) सभी लड़耂कया ँआकषတတक हထነ।                

(B)   कुछ आकषတတक पाႰ뀐 चाတတ य हထነ।

ዠတनႰ뀐 कषတတ:

I.     कुछ आकषတတक,लड़耂कयाहँထነ।  

II.    कोई आकषတတक,लड़क怐တ नहတတ ह।ै
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III.   कुछ पाႰ뀐 चाတတ य लड़耂कयाहँထነ।

IV.  सभी पाႰ뀐 चाတတ य लड़耂कयाहँထነ।

Only I follows/ केवल I अनसुरण करता ह।ै

EitherI orII follow / या तो I या II अनसुरण करता ह।ै

Either III or IV follows / या तो III याIVअनसुरणकरता ह।ै

Only I & III follow / केवल I और IIIअनसुरण करत ेह।ै

Correct Answer :­Only I follows/ केवल I अनसुरण करता ह।ै 

13)

Question Stimulus :­

In the question below, there are two statements followed by conclusions numbered I, II, III and IV.
You have to take the given statements to be true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusions logically follow(s) from the given
statements.

Statements:

(A)  Some girls are cunning . 

(B)   All cunning are wicked.

Conclusions:

I.     Some cunning are girls.

II.    Some wicked are girls.

III.   Some girls are not wicked.                        

IV.   All wicked are girls.

 

नीच ेᘖᘏदय ेगय ेတတႰ뀐 न म⼁⼁ दो कथन और उसके बाद I, II, III और IV  ዠတनႰ뀐 कषတတ ᘖᘏदय ेगय ेहထነ। आपको ᘖᘏदय ेगए कथन삠ጀ को
सတတ य मानना ह,ै भल ेहတတ व े सवတတတတात तᅐတ य삠ጀ स े耂भတတ न ह삠ጀ। सभी ዠတनႰ뀐 कषတတ पᘖᘏढ़य े耂फर तय क怐တिजए क怐တ ᘖᘏदए गय ेकथन삠ጀ
का तकတတ सगंत 〰〰प स ेअनसुरण करता ह।ै

कथन:
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(A)   कुछ लड़耂कया ँचालाक हထነ।     

(B)   सभी चालाक दႰ뀐 ट हထነ।

ዠတनႰ뀐 कषတတ:

I.     कुछ चालाक,लड़耂कया ँहထነ।    

II.    कुछ दႰ뀐 ट,लड़耂कया ँहထነ।

III.   कुछलड़耂कया ँदႰ뀐 ट नहတတ ंहထነ।

IV.   सभी दႰ뀐 ट,लड़耂कया ँहထነ।

Only I follows/ केवल I अनसुरण करता ह।ै

Either II orIII follow / या तो II या III अनसुरण करता ह।ै

Only I & III follow / केवल I और IIIअनसुरण करत ेह।ै

Only I & II follow / केवल I और IIअनसुरण करत ेह।ै

Correct Answer :­Only I & II follow / केवल I और IIअनसुरण करत ेह।ै 

14)

Question Stimulus :­

A building has n floors including the ground floor. People from different departments work on
different floors of the building. Ram works on the floor which is 23 floors below the topmost
occupied floor. John works on 17th floor. There are two floors between the floors of Ram and
John. Two floors at the top are unoccupied. What is the value of n if it is known that Ram works at
an Department which is above John’s Department?

एक भवन म⼁⼁ भतूल को 耂मलाकर n तल ह।ै अलग अलग 耂वभाग삠ጀ के लोग अलग अलग तल삠ጀ पर काम करत ेहထነ। राम
िजस तल पर काम करता ह ैवह सबस ेऊँच ेअ耂धकृततल स े23 तल नीच ेह।ै जोन 17व ेतल पर काम करता ह।ै राम
और जॉन के तल삠ጀ के बीच म⼁⼁ दो तल और ह।ै ऊपर के दो तल खालတတ हထነ। यᘖᘏद यह တတात हो 耂क राम िजस 耂वभाग म⼁⼁
काम करता हထነ वह जोन के 耂वभाग के ऊपर ह,ै तो n का मान 뀐တ या होगा?

40

42

44
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45

Correct Answer :­44 

15)

Question Stimulus :­

Study the following information and answer the questions given below it:

A blacksmith has five iron articles A, B, C, D and E, each having a different weight.

I. A weighs twice as much as B.

II. B weighs four and a half times as much as C

III. C weighs half as much as D.

IV. D weighs half as much as E.

V. E weighs less than A but more than C.

 

Which of the following is the lightest in weight?

 

ዠတनတတ न耂ल耂खत सचूना को पᘖᘏढ़य ेऔर उसके नीच े耂लख ेတတႰ뀐 न का उတတ तर दတတिजए­

एक लोहार के पास लोह ेक怐တ 5 वᄠတ तऐु ंA, B, C, D और E ह,ै सभी का भार अलग अलग ह।ै

I. A का भार B स ेदोगनुा ह।ै

II. B का भार C स ेसाढ़ ेचार गनुा ह।ै

III. C का भार D स ेआधा ह।ै

IV. D का भार E स ेआधा ह।ै

V. E का भार A स ेकम ह ैल耂ेकन C स ेတတ यादा ह।ै

ዠတनတတ न म ेस ेसबस ेकम भार 耂कसका ह?ै

A

B

C
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D

Correct Answer :­C 

Topic:­ Botany
1)

Question Stimulus :­

Heterocyst is found in?

 ᘖᘏहटरो耂सᄠတट पाई जाती ह?ै

Bacteria/ जीवाण ुम⼁⼁

Cyanobacteria/ साइनो ब뀐တတတတတरया म⼁⼁

Virus/ 耂वषाण ुम⼁⼁

Mycoplasma/ माइकोတတलाတတमा म⼁⼁

Correct Answer :­Cyanobacteria/ साइनो ब뀐တတတတတरया म⼁⼁ 

2)

Question Stimulus :­

Viruses are?

 耂वषाण ु뀐တया होत ेह?ै

Parasite/ परजीवी

Saprophyte/मतृोपजीवी

Symbiont/ सह जीवी

Free living/ ᄠတवतတတ जीवन

Correct Answer :­Parasite/ परजीवी 

3)

Question Stimulus :­

Black rust of wheat is caused by?

गहेूँ म⼁⼁ काला 耂क頄 रोग होता ह?ै
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Puccinia gramin’s tritici/प뀐တसीዠတनया တတ耂ेमዠတनस ᘖᘏတတᘖᘏटसाई के ᐵᓹवारा

Ustilago tritici/ यिूᄠတटलगेो ᘖᘏတတᘖᘏटसाई के ᐵᓹवारा

Alternaria/ अဒ瀐टरनတेတरया के ᐵᓹवारा

All of these/ उपयတुတ뀐တत सभी

Correct Answer :­Puccinia gramin’s tritici/प뀐တसीዠတनया တတ耂ेमዠတनस ᘖᘏတတᘖᘏटसाई के ᐵᓹवारा 

4)

Question Stimulus :­

Bordeaux mixture is a common?

बोड   耂म䰥䰥ण ह?ै

Herbicide/ शाकनाशी

Insecticide/ क怐တटनाशी

Fungicide कवक नाशी

All of these/ उपयတुတ뀐တत सभी

Correct Answer :­Fungicide कवक नाशी 

5)

Question Stimulus :­

Study of algae is known as?

शवेल का अတတययन कहलाता ह?ै

Mycology/ माइकोलॉजी

Phycology/ फाइकोलॉजी

Virology/ वाइरोलॉजी

Bryology/ တတायोलॉजी

Correct Answer :­Phycology/ फाइकोलॉजी 

6)
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Question Stimulus :­

In leptosporangiate type, sporangium develops from?

लတेတटोᄠတपोरिेတတजयटे တတकार के बीजाणधुानी का पတတरवधတတन होता ह?ै

Single superficial cell/ एक ऊपरတတ को耂शका के ᐵᓹवारा

A group of cells/ को耂शकाओ ंके समहू के ᐵᓹवारा

Both of these/ उपयတुတ뀐တत दोनो တတकार से

None of these/ उपयတुတ뀐တत म⼁⼁ स े耂कसी भी တတकार स ेनहတတं

Correct Answer :­Single superficial cell/ एक ऊपरတတ को耂शका के ᐵᓹवारा 

7)

Question Stimulus :­

Endosperm in gymnosperm is formed?

िजတတनोᄠတपम म⼁⼁ एတတडोᄠတपमတတ बनती ह?ै

At the time offertilization/ ዠတनषचेन के समय

Before fertilization/ዠတनषचेन स ेपहले

After fertilization/ዠတनषचेन के बाद

Along with the development of embryo/ တတणू के पတတरवधတတन के साथ

Correct Answer :­Before fertilization/ዠတनषचेन स ेपहल े

8)

Question Stimulus :­

Parallel venation is a characteristic of?

समानाတတतर 耂शरा 耂वတတयास लᰰᏰण ह?ै

Pea/मटर

Banyan/ बरगद

Grasses/ घास
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Shoe flower/ गलुहड़

Correct Answer :­Grasses/ घास 

9)

Question Stimulus :­

Radial vascular bundles is the characteristic of?

अरတတय सवंहन पलू लᰰᏰण ह?ै

Root/ जड़

Stem/ तना

Leaf/ पတတती

None of these/ उपयတुတ뀐တत म⼁⼁ स ेकोई नहတတं

Correct Answer :­Root/ जड़ 

10)

Question Stimulus :­

Endosperm in angiosperm is?

एिတတजयोᄠတपमတတ म⼁⼁ တတणू पोष होता ह?ै

Haploid/ अग耂ुणत

Diploid/ ᐵᓹ耂वग耂ुणत

Triploid/ 䰁ఁတတग耂ुणत

Tetraploid/ चतတुတग耂ुणत

Correct Answer :­Triploid/ 䰁ఁတတग耂ुणत 

11)

Question Stimulus :­

In poppy, dispersal of seedstakes place through?

पोपी के पौध ेम⼁⼁ बीज का တတक怐တणတတन होता ह?ै
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Pores/ ዠတछတတ के ᐵᓹवारा

Septa/ सတेတटा के ᐵᓹवारा

Valve/ वाဒ瀐व के ᐵᓹवारा

None of these/ उपरो뀐တत म⼁⼁ स ेकोई नहတတं

Correct Answer :­Pores/ ዠတछတတ के ᐵᓹवारा 

12)

Question Stimulus :­

Bentham Hooker’s system of classification is an example of?

बတेတथन दकूर का वगᐚāकरण उदाहरण ह?ै

Natural classification/ တတाकृዠတतक वगᐚāकरण का

Phylogenetic classification/ फाइलोजዠेတनटक वगᐚāकरण का

Artificial classification/ कृ䰁ఁတတम वगᐚāकरण का

Sexual classification/ जनन वगᐚāकरण का

Correct Answer :­Natural classification/ တတाकृዠတतक वगᐚāकरण का 

13)

Question Stimulus :­

Cyathium inflorescence is found in?

साय耂थयम पႰ뀐पတတम पाया जाता ह?ै

Family Euphorbiaceae/ यफू  䰁ఁबयसेी कुल

Family Apocynaceae/ एपोसाएनसेी कुल

Family Lamiaceae/ ल耂ेमयसेी कुल

Family Asclepiadaceae/ सोलोनसेी

Correct Answer :­Family Euphorbiaceae/ यफू  䰁ఁबयसेी कुल 

14)
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Question Stimulus :­

Indian botanical garden Shibpur is situated in?

इिတတडयन बॉटनीकल गाडတတन 耂शबपरु कहा ँिᄠတथत ह?ै

Calcutta/ कलकတတता म⼁⼁

Darjeeling/ दाजတတ耂लगं म⼁⼁

Lucknow/ लखनऊ म⼁⼁

Dehradun/ दहेरादनू म⼁⼁

Correct Answer :­Calcutta/ कलकတတता म⼁⼁ 

15)

Question Stimulus :­

Karyotype is?

कैတတरयोटाइप ह?ै

Morphology of chromosomes/ गणुसတတ삠ጀ क怐တ अकाတတरक怐တ

Number of chromosomes/ गणुसတတ삠ጀ क怐တ सတंႰया

Behaviour of chromosomes/ गणुसတတ삠ጀ का တႰयवहार

Types of chromosomes/ गणुसတတ삠ጀ का တတकार

Correct Answer :­Number of chromosomes/ गणुसတတ삠ጀ क怐တ सတंႰया 

16)

Question Stimulus :­

True nucleus is absent in?

सတတय केတတတတक 耂कसम⼁⼁ अनपुिᄠတथत होता ह?ै

Green algae, हတတरत शवैाल म⼁⼁

Fungi, कवक म⼁⼁

Lichen/ लाइकेन म⼁⼁
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Bacteria/ जीवाण ुम⼁⼁

Correct Answer :­Bacteria/ जीवाण ुम⼁⼁ 

17)

Question Stimulus :­

Lampbrush chromosomes are found in?

लတတप တတश गणुसတတ पाय ेजात ेह?ै

Egg cells/ अတတड को耂शका म⼁⼁

Oocytes/ ऊसाइटस म⼁⼁

Somatic cells/ काዠတयक को耂शका म⼁⼁

Salivary gland/ लार တတिတတथ म⼁⼁

Correct Answer :­Oocytes/ ऊसाइटस म⼁⼁ 

18)

Question Stimulus :­

Which organelle takes part in photosynthesis?

တတकाश सႰ뀐लषेण म⼁⼁ कौन सा को耂शकागं भाग लतेा ह?ै

Leucoplast/ ဒ瀐यकूोတတलाᄠတट

Chromoplast/ တတोमाတတलाᄠတट

Chloroplast/ 뀐တलोरोတတलाᄠတट

Mitochondria/ माइटोတတोिတတတတया

Correct Answer :­Chloroplast/ 뀐တलोरोတတलाᄠတट 

19)

Question Stimulus :­

Cell membrane is?

को耂शका 耂झဒ瀐लတတ होती ह?ै
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Semipermeable/ वरणाတတमक पारगတတय

Permeable/ पारगတတय

Impermeable/ अपारगတတय

All of these/ उपयတुတ뀐တत सभी

Correct Answer :­Semipermeable/ वरणाတတमक पारगတတय 

20)

Question Stimulus :­

What is the ratio of phenotype of F2 plants in a dihybrid cross?

एक ᘖᘏတတसकंर क怐တ F2 पीढ़တတ म⼁⼁ लᰰᏰण တတ〰〰पी अनपुात 뀐တया होता ह?ै

1 : 2: 1

9 : 3 : 3 : 1

3 : 1

2 : 7 : 2 : 7

Correct Answer :­9 : 3 : 3 : 1 

21)

Question Stimulus :­

DNA replication takes place in?

DNA क怐တ पनुरावዠတत होती ह ै?

‘G1’ of interphase/ अတတतरावᄠတथा क怐တ ‘ G1’ တတावᄠတथा

Prophase of mitosis/ माइटो耂सस क怐တ တတोफेज

‘G2’ of interphase/ अတတतरावᄠတथा क怐တ ‘G2’တတावᄠတथा

‘S’ of interphase/ अတတतरावᄠတथा क怐တ ‘S’ တတावᄠတथा

Correct Answer :­‘S’ of interphase/ अတတतरावᄠတथा क怐တ ‘S’ တတावᄠတथा 

22)

Question Stimulus :­
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What is the unit of protein synthesis in the cell?

တတोटတတन सႰ뀐लशेण क怐တ इकाई ह?ै

Mitochondria/ माइटोတတोिတတတတया

Chloroplast/ 뀐တलोरोတတलाᄠတट

Ribosomes/ राइबोजोम

Lysosomes/ लाइजोजोम

Correct Answer :­Ribosomes/ राइबोजोम 

23)

Question Stimulus :­

Which apparatus is used in the measurement of rate of transpiration?

वाႰ뀐पोတတसजတတन क怐တ दर 耂कसस ेमापी जाती ह?ै

Auxeno meter/ऑတတ जनेो मीटर के ᐵᓹवारा

Potometer/ पोटो मीटर के ᐵᓹवारा

Photometer/ फोटो मीटर के ᐵᓹवारा

Respiro meter/ रᄠेတपायरो मीटर के ᐵᓹवारा

Correct Answer :­Potometer/ पोटो मीटर के ᐵᓹवारा 

24)

Question Stimulus :­

P­700 is the reaction centre of?

अ耂भ耂တတया केတတတတ ह ै?

Chloroplast/ 뀐တलोरो တတलाᄠတट

PS I

PS II

PS III
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Correct Answer :­PS I 

25)

Question Stimulus :­

Richmond and Lang effect is associated with?

တတरचमोတတड लထነग တတभाव जड़ुा ह?ै

Increase in length and flowering/ पႰ뀐पन तथा लတတबाई म⼁⼁ बढ़ना

Delay of senescence/ जीणတတता म⼁⼁ दरेတတ

Auxin bioassay/ऑि뀐တजတတस का बॉयोएसे

Avena Curvature test/ ए耂वना करवचेर टᄠेတट

Correct Answer :­Delay of senescence/ जीणတတता म⼁⼁ दरेတတ 

26)

Question Stimulus :­

Enzymes are made up of?

एတတजाइम बन ेहोत ेह?ै

Lipid/ 耂ल耂पड

Carbohydrate/ काब  हाइတတटे

Protein/ တတोटတတन

None of these/ उपयတुတ뀐တत म⼁⼁ स ेकोई नहတတं

Correct Answer :­Protein/ တတोटတတन 

27)

Question Stimulus :­

How many groups in a life form are proposed by Raunkiaer?

राउन耂कयर न ेलाइफ फामတတ के 耂कतन ेसमहू बताय ेथ?े

05
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02

04

10

Correct Answer :­05 

28)

Question Stimulus :­

Who was the first to coin the term ecosystem?

पाတတरिᄠတथतक तတတ शတတद का တတयोग सबस ेपहल े耂कसन े耂कया था?

Carl Linnaeus/ कालတတ 耂लዠတनअस

Arthur Tansley/ आथတတर टတेတसल

Thomas Robert Malthus/ थॉमस रॉबटတတ माဒ瀐थस

Gregor Mendel/ တတगेर म⼁⼁डले

Correct Answer :­Arthur Tansley/ आथတတर टတेတसल 

29)

Question Stimulus :­

Which of the following is an air pollutant?

ዠတनတတन耂ल耂खत म⼁⼁ स ेकौन सा वाय ुတတदषूक ह?ै

CO2.

CO.

N2.

O2

Correct Answer :­CO. 

30)

Question Stimulus :­

Which of the following is not included under ‘in situ’ conservation?
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ዠတनတတन耂ल耂खत म⼁⼁ स ेकौन सा ‘इन सीटू’ सरंᰰᏰण के अတတतगတတत नहတတ ंआता ह?ै

National Park/ राႰ뀐တတတတय उᐵᓹयान

Sanctuaries/ अတတयारတတय

Botanical Garden/ वनᄠတपዠတत उᐵᓹयान

Biosphere Reserves/ जवै मတတडल

Correct Answer :­Sanctuaries/ अတတयारတတय 

31)

Question Stimulus :­

The fibre of jute is?

जटू के रश ेहोत ेह?ै

Xylem Fibre/ जाइलम रशेे

Bast Fibre/ बाᄠတट रशे

Cortical Fibre/ कोटᅁ䅀कल रशेे

Surface Fibre/ सतहတတ रशे

Correct Answer :­Bast Fibre/ बाᄠတट रश े

32)

Question Stimulus :­

Central Rice Research Institute is at?

सတेတတတल राइस တတरसचတတ इिတတस⁌⁌यटू िᄠတथत ह?ै

Cuttack/ कटक

Bangalore/ बထነगलौर

Delhi/ ᘖᘏदဒ瀐लတတ

Chandigarh/ चडंीगढ़

Correct Answer :­Cuttack/ कटक 
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33)

Question Stimulus :­

Dalchini is?

दालचीनी ह?ै

Leaf/ पတတती

Root/ जड़

Bark/ छाल

Stem/ तना

Correct Answer :­Bark/ छाल 

Topic:­ Zoology
1)

Question Stimulus :­

Which sugar is present in DNA?

कौन सी शတတकरा डीएनए म⼁⼁ पायी जाती ह?ै

Hexose./ ह뀐ेတजोज़

Pentose./ पတेတटोज़

Tetrose./ टတेတोज़

Triose./ တတाइओज़

Correct Answer :­Pentose./ पတेတटोज़ 

2)

Question Stimulus :­

Which one of the following amino acid starts protein synthesis?

ዠတनတတन म⼁⼁ स ेकौन सा अमीनो ए耂सड တတोटတတन सႰ뀐लषेण शጃ̀ करता ह?ै

Methionine. / 耂मᅐတयोዠတनन
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Glycine. / တတलाइ耂सन

Proline/ တတोलတတन

Thymine/ थाय耂मन

Correct Answer :­Methionine. / 耂मᅐတयोዠတनन 

3)

Question Stimulus :­

Which of the following options are associated with 'Point Mutation'?

ዠတनတတन耂ल耂खत 耂वकဒ瀐पो/शတတदो म⼁⼁ स ेकोनस े'पॉइटं मउेतशेन' स ेसबंिတတधत हထነ ?

Insertion of RNA­DNA/RNA­DNA का ዠတनवषेन

Deletion of RNA­DNA/RNA­DNA का 耂वलोपन

Single base modification./ एकल ᰰᏰार पတတरवतတတन

All of these/इनम⼁⼁ स ेसभी

Correct Answer :­All of these/इनम⼁⼁ स ेसभी 

4)

Question Stimulus :­

Plant vector Ti Plasmid is obtained from which micro­organism?

တတलाटं व뀐တटर टတတआई တတलािတတमड 耂कस सᄠတमजीव स ेတတाတတत होता ह?ै

Thermus aquatics./ थमसတတ ए뀐တवᘖेᘏटकस

Agrobacterium tumefacieins./ एတတोबिे뀐တटတတरयम ⁌⁌यमूफेे耂सयन

Thermophilic bacteria/ थम  耂फ耂लक बिै뀐တटတတरया

Agrobacterium radiobacter/एတတोबिे뀐တटတတरयम र耂ेडयोब뀐ेတटर

Correct Answer :­Agrobacterium tumefacieins./ एတတोबिे뀐တटတတरयम ⁌⁌यमूफेे耂सयन 

5)
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Question Stimulus :­

Who receives an extra chromosome may suffer from?

िजनम⼁⼁ अዠတतတတर뀐တत गणुसတတ ह ैव े耂कस रोग स ेတတ耂सत होत ेहထነ?

Scurvy/ ᄠတकवᐚā

Down syndrome/ डाउन 耂सတတोम

Thalesmia/थलैिेᄠတमया

Ricket./ တတरकेट

Correct Answer :­Down syndrome/ डाउन 耂सတတोम 

6)

Question Stimulus :­

What does ICZN stand for?

ICZN का परूा नाम ह?ै

International code of zoo nomenclature./ इटंरनषेनल कोड आफ ज ूनामन뀐တलचेर

International code of Zoological Names/ इटंरनषेनल कोड आफ जलूािजकल नमेस्

International code of Zoogeographical names/ इटंरनषेनल कोड आफ जिूजयोတတा耂फकल नमेस्

International code of Zoological Nomenclature./ इटंरनषेनल कोड आफॅ जलूािजकल नमन 뀐တलचेर

Correct Answer :­International code of Zoological Nomenclature./ इटंरनषेनल कोड आफॅ जलूािजकल
नमन 뀐တलचेर 

7)

Question Stimulus :­

What is Evolution?

उद耂वकास 뀐တया होता ह?ै

Development of a species/ တတजाዠတतय삠ጀ का 耂वकास
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History and Development of a race/ जाዠတत के 耂वकास का इዠတतहासတတजाዠတतय삠ጀ का 耂वकास

History of a race./ जाዠတत के इዠတतहास

History and development of a race along with variations./ व耂भတတनता के साथ जाዠတत के 耂वकास का
इዠတतहास

Correct Answer :­History and development of a race along with variations./ व耂भတတनता के साथ जाዠတत
के 耂वकास का इዠတतहास 

8)

Question Stimulus :­

What is the study of fossils called?

जीवाႰ뀐म के अတတययन को 뀐တया कहत ेहထነ?

Palmology/ पाဒ瀐मोलाजी

Phycology/ फाइकोलाजी

Paleontology/ पलတेတटोलाजी

Psychiatry/ साइ耂တတयတတတတ

Correct Answer :­Paleontology/ पलတेတटोलाजी 

9)

Question Stimulus :­

What is the molecular Formula of Glucose?

Glucose का आण耂वक सတတ ह?ै

C6H12O6.

C12HO11.

CH3OH2.

C6H2O5.

Correct Answer :­C6H12O6. 
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10)

Question Stimulus :­

Enzymes are made up of which type of Biological molecules?

एजंाइम 耂कस တတकार के ज耂ैवक अण ुस ेबन ेह?ै

Fats./ वसा

Carbohydrates./ काब  हाइတတटे

RNA

Proteins./ တတोटတတन

Correct Answer :­Proteins./ တတोटတတन 

11)

Question Stimulus :­

Which enzyme helps in digestion of milk in mammals?

ᄠတतनधाတတरय삠ጀ म⼁⼁ दधु का पाचन 耂कस एजंाइम के ᐵᓹवारा होता ह?ै

Renin./ रዠेတनन

Primase./ တတाइमज़े

Salivary Amylase./ ᄠတलाइवरတတ एमाइलज़े

Invertase./ इनवरटज़े

Correct Answer :­Renin./ रዠेတनन 

12)

Question Stimulus :­

In which of the following percentage of protein is high?

इनम⼁⼁ स ेसबस ेတတयादा တတोटတတन क怐တ माတတा 耂कसम⼁⼁ पायी जाती ह?ै

Plasma./ တတलाजमा
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Blood/खनू

Lymph./ 耂लတတफ

WBC./ Ⴐ뀐वते र뀐တत क耂णकाय⼁⼁ण्

Correct Answer :­Blood/खनू 

13)

Question Stimulus :­

Which type of image is formed on the retina in eyes?

आखँ삠ጀ पर 耂कस တတकार क怐တ တတዠတत䰁ఁबတတब बनती ह?ै

Virtual and Inverted./ वचတुတअल और उဒ瀐टे

 Erect and virtual/ सीधा और वचတुတअल

Real and inverted./ वाᄠတत耂वक और उဒ瀐टे

Erect and virtual./ सीधा और वाᄠတत耂वक

Correct Answer :­Real and inverted./ वाᄠတत耂वक और उဒ瀐ट े

14)

Question Stimulus :­

Which is the iron containing protein in human blood?

मानव र뀐တत म⼁⼁ पाया जान ेवाला लोह य뀐တत တတोတတတတन 耂कस ेकहत ेहထነ?

RBC

Hormones/ हामाတတတတस

WBC

Hemoglobin/ हတတमाတတलो䰁ఁबन

Correct Answer :­Hemoglobin/ हတတमाတတलो䰁ఁबन 

15)
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Question Stimulus :­

What is the formation of sperm in a male called?

पጃ̀ष म⼁⼁ शတတाण ुबनन ेक怐တ 耂တတया को 뀐တया कहत ेहထነ?

Gametogenesis./ गमे⼁⼁टोजन耂ेसस

Oogenesis./ ऊजन耂ेसस

Spermatocyte./ ᄠတपमဒटोसाइट

Spermatogenesis/ ᄠတपमဒटोजन耂ेसस

Correct Answer :­Spermatogenesis/ ᄠတपमဒटोजन耂ेसस 

16)

Question Stimulus :­

What is the retention of larval embryonic character in adults called?

वयᄠတक म⼁⼁ अवधार耂णत लावाတတ တတणू गणु को 뀐တया कहत ेहထነ?

Neoteny./ ዠတनयोटनेी

Gastrulation./ गसैटूलषेन

Gametogenesis./ गमेटेोजन耂ेसस

Blastula./ တတलासटुला

Correct Answer :­Neoteny./ ዠတनयोटनेी 

17)

Question Stimulus :­

Placenta is made up of which two tissues?

नाल 耂कन दो ऊतक삠ጀ स ेबनती हထነ?

Adipose and Paternal tissues./ वसा एव ंपतैकृ ऊतक

Adipose and Maternal tissues/ वसा एव ंमात ृऊतक
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Maternal and Foctal tissues./ मात ृएव ंတတणू ऊतक

Maternal and Paternal tissues./ मात ृएव ंपतैकृ ऊतक

Correct Answer :­Maternal and Foctal tissues./ मात ृएव ंတတणू ऊतक 

18)

Question Stimulus :­

Lac resin is related to which great Indian epic?

लाख 耂कस महान भारतीय महाकाတႰय स ेसबं耂ंधत ह?ै

Ramayana./ रामायण

Bhagwata Geeta./ भागवत गीता

Mahabharata./ महाभारत

Vishnu Puran./ 耂वႰ뀐ण ुपरुाण

Correct Answer :­Mahabharata./ महाभारत 

19)

Question Stimulus :­

Which of these behavior is inherited?

इनम⼁⼁ स ेकौन सा တႰयवहार आनवु耂ंशक ह?ै

Instinctive./ ᄠတवभा耂वक

Imprinting./ अकंेᰰᏰण

Conditioning./ अनकुूल

Implantation/ समा耂वႰ뀐ट

Correct Answer :­Instinctive./ ᄠတवभा耂वक 

20)

Question Stimulus :­
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AIDS is caused by which type of micro­organism?

ए㼥㠯स 耂कस တတकार के सᄠတमजीव के कारण होता?

Virus./वायरस

Bacteria./ ब뀐တटတတတတरया

Fungus./फंगस

None of these. /इनम ेस ेकोई नहတတं

Correct Answer :­Virus./वायरस 

21)

Question Stimulus :­

Which one of them is called primary produce in a forest ecosystem?

इनम⼁⼁ स ेवन पတတरᄠတथዠတतक怐တ तတတ म⼁⼁ တတाथ耂मक उတတपादक 耂कस ेकहा जाता ह?ै

Carnivores./ मासंाहार

Herbivores./ शाकाहार

Microorganism./ सᄠတम जीवाणु

Plants./पौधे

Correct Answer :­Plants./पौध े

22)

Question Stimulus :­

Sale Purchase of carbon credits comes under which trading?

काबတတन တတ耂डटस ्का တတय 耂वတတय 耂कस တႰयापार के अတတतगတတत आता ह?ै

 Industrial training. औᐵᓹयो耂गक တတ耂शᰰᏰण

Emission trading. उတတसजတတन တႰयापार

Stock trading. पूंजी တႰयापार
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Security paper trading. सरुᰰᏰा पपेर တႰयापार

Correct Answer :­Emission trading. उတတसजတတन တႰयापार 

23)

Question Stimulus :­

What are Pheromones?

फेरोम삠ጀस 뀐တया होत ेह?ै

A chemical released by animal to affect the behavior of another animal./ जတတत ुᐵᓹवारा उတတसिजတတत
रसायन स ेअတတय जတတत ुके တႰयवहार पर တတभाव पड़ना

Release of endorphin./ एတတडो耂फတတन का उတတसजတတन

Production of Growth hormones./ व耂ृዐዠ हाम  न का उတတपादन

A product of neuro secretory cell/ တတयरो᠓᠓ावी सलै का उတတपादन

Correct Answer :­A chemical released by animal to affect the behavior of another animal./ जတတतु
ᐵᓹवारा उတတसिजတတत रसायन स ेअတတय जတတत ुके တႰयवहार पर တတभाव पड़ना 

24)

Question Stimulus :­

What is the scientific name of starfish?

ᄠတटार 耂फश का वတတाዠတनक नाम 뀐တया ह?ै

Asterias./ एसटတेတरयस

Echinus./ एकाइनसं

Lionulus./ 耂लတတयलुस

Echidna./ एकाइडंना

Correct Answer :­Asterias./ एसटတेတरयस 

25)
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Question Stimulus :­

Which is the biggest phylum in animal?

जတတत ुजगत म⼁⼁ सबस ेबड़ा फाइलम कौन सा ह ै?

Arthropoda./ आथ  पोडा

Protozoa./ တတोटोजोआ

Chordata./ को耂डတတटा

Mollusca./ मऑलᄠတका

Correct Answer :­Arthropoda./ आथ  पोडा 

26)

Question Stimulus :­

Which type of blood is found in Aves?

ए耂वस म⼁⼁ 耂कस တတकार का र뀐တत पाया जाता ह?ै

Semi warm./ अዐዠတတ गमတတ

Cold./ ठंडा

Warm./ गमတတ

Warm and cold. / गमတတ, ठंडा दोन삠ጀ

Correct Answer :­Warm./ गमတတ 

27)

Question Stimulus :­

Which of these creatures is not in the Insect Class ?

इनम⼁⼁ स ेकौन सा जीव क怐တट वगတတ म⼁⼁ नहတတ ह?ै

Butterfly./ ዠတततलတတ

Mosquito/ मⰁāछर.
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Spider./ मकड़ी

 Beetles./ बीटဒ瀐स

Correct Answer :­Spider./ मकड़ी 

28)

Question Stimulus :­

Which of the following structures is present in all the chordates?

इनम⼁⼁ स ेकौनसी सरंचना कॉडဒ뀐တट म⼁⼁ उपिᄠတथत होती ह?ै

Notochord./ नोटोकॉडတတ

Spinal Cord./ ᄠတपाइनल कॉडတတ

Vertebral column./वटᅁ䅀တတल कॉलम

Cranium./ တတዠတनयम

Correct Answer :­Notochord./ नोटोकॉडတတ 

29)

Question Stimulus :­

What is present in the Nucleus of a cell?

एक सले के ना耂भक म⼁⼁ 뀐တया पाया जाता ह?ै

Protein only./ 耂सफတတ တတाटတတन

DNA and Protein.`/ डीएनए और တတोटတတन

 DNA only./ 耂सफတတ डीएनए

DNA, RNA or Protein./ डीएनए आरएनए और တတोटတတन

Correct Answer :­DNA, RNA or Protein./ डीएनए आरएनए और တတोटတတन 

30)

Question Stimulus :­
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For specimen preservation which preservative is used?

ᄠတप耂ेस耂मन सरंᰰᏰण के 耂लए 耂कस पတတररᰰᏰक का တတयोग 耂कया जाता ह?ै

Carboxylic Acid./ काब  ि뀐တस耂लक ए耂सड

Chloroform/ 뀐တलारोफामတတ

Acetone/एसीटोन

Formalin./ फारमालတတन

Correct Answer :­Formalin./ फारमालတတन 

31)

Question Stimulus :­

Which two main stains are used in microtome?

कौन स ेदो တတमखु ᄠတटनै का တတयोग माइတတोटॉम म⼁⼁ 耂कया जाता ह?ै

Hematoxylin and Eosin/ ᘖᘏहमोटाि뀐တसन एवं ईआ耂सन

Evans Blue and  Methylene/ ईवाတတस တတल ूएवं 耂मथीलတတन တတलू

Janus Green Methylene Blue/ जनेस တတीन मᅐेတलတတन တတलू

Bromophenol Blue and  Evans Blue/ တတोमा耂फनालॅ တတल ूएवं ईवाတတस တတलू

Correct Answer :­Hematoxylin and Eosin/ ᘖᘏहमोटाि뀐တसन एवं ईआ耂सन 

32)

Question Stimulus :­

Malaria is caused by which micro­organism?

मलတेတरया 耂कस सᄠတमजीव के कारण होता ह?ै

 Plasmodium vivax./ တတलाတတमो耂डयम वाइव뀐ेတस

Plasmodium Malaria./ တတलाတတमो耂डयम मलတेတरयाई

Plasmodium Falciparum./ တတलाတတमो耂डयम फेिဒ瀐सपरेम
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All of these./ उपरो뀐တत सभी

Correct Answer :­All of these./ उपरो뀐တत सभी 

33)

Question Stimulus :­

What is the composition of silica gel G in thin layer chromatography?

耂थन लयेर တတोमटेोတတाफ怐တ म⼁⼁ 耂स耂लका जलै क怐တ सयंोजन ह:ै

Silica gel + H2SO4./ 耂स耂लका जलै

Silica gel + Alumina/ 耂स耂लका जलै + Alumina

Silica gel + CaSO4./ 耂स耂लका जलै+ CaSO4

Silica gel + MgSO4. /+ 耂स耂लका जलै + MgSO4

Correct Answer :­Silica gel + CaSO4./ 耂स耂लका जलै+ CaSO4 

Topic:­ Chemistry_CBZ
1)

Question Stimulus :­

The symmetry point group of propyne is?

တတोपाइन का सम耂मዠတत 䰁ఁबတတद ुसमहू ह।ै

C3

C3v

D3

D3d

Correct Answer :­C3v 

2)

Question Stimulus :­

The correct non­linear and iso structural pair is?
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सम अर耂ैखक तथा सम सरचनाတတमक यတတम ह।ै

SCl2 and I3
­/ SCl2 तथा I3­

SCl2 and I3
+/ SCl2 तथा I3+

SCl2 and ClF2
­/ SCl2 तथा ClF2­

I3+ and ClF2­/ I3+  तथा ClF2­­

Correct Answer :­SCl2 and I3+/ SCl2 तथा I3+ 

3)

Question Stimulus :­

What is the bond order CO group?

CO समहू का बधं တတम सတႰया 뀐တया है

1

2.5

3.5

3

Correct Answer :­3 

4)

Question Stimulus :­

How many lone pair in HCl molecule?

HCl म⼁⼁ एकाकं怐တ यတတम क怐တ सတႰया 耂कतनी ह?ै

1

3

4

None of these/ इनम⼁⼁ स ेकोई नहတတ

Correct Answer :­3 
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5)

Question Stimulus :­

What is the Brag’s equation?

တတगे के ዠတनयम का समीकरण ह?ै

n =2 sin

n =2dsin

2n =dsin

n = sin

Correct Answer :­n =2dsin  

6)

Question Stimulus :­

A compound Ax By has a cubic structure with A atom occupying all the corner of the cubic as well
as all the face center position. The B atom occupy four tetrahedral voids. The value of x and y
respectively are?

A यौ耂गक क怐တ सरंचना Ax By घनीय ह।ै घन के सभी कोन삠ጀ तथा फलक केတတတတ ᄠတथान삠ጀ पर परमाण ुA 耂वᐵᓹयमान होते
हထነ। परमाण ुB चार चतႰ뀐टफलक怐တय  တတरि뀐တतय삠ጀ  को अ耂धकृत कर लते ेहထነ x तथा y के मान ह⼁⼁ တတमशः

4, 4

4, 8

8, 4

4, 2

Correct Answer :­4, 4 

7)

Question Stimulus :­

What is the first law of thermodynamic?

ऊႰ뀐मागዠတतक怐တ का တတथम ዠတनयम ह?ै

E = q + w
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E = qv

H= E + P v

w P v

Correct Answer :­ E = q + w 

8)

Question Stimulus :­

Isochoric system is?

सम आयतዠတनक तတတ ह?ै

P = 0

T = 0

V = 0

None of these/ इनम⼁⼁ स ेकोई नहတတ

Correct Answer :­ V = 0 

9)

Question Stimulus :­

Cyclic process rule of thermodynamic?

 ऊႰ뀐मागዠတतक怐တ का चတတ怐တय ዠတनयम ह?ै

=1

= ­1

=1

None of these/ इनम⼁⼁ स ेकोई नहတတ
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Correct Answer :­ =1 

10)

Question Stimulus :­

Kohlrausch’s law is applicable to dilution solution of?

कोलराश ዠတनयम इस 耂वलयन삠ጀ के 耂लए लाग ूहोता हထነ।

KCl in hexane/ KCl म ेह뀐ेတसने

CH3COOH in water/ जल म⼁⼁ CH3COOH

HCl in H2O/ H2O म⼁⼁ HCl

C6H5 COOH in C6H6/ C6H6 म⼁⼁ C6H5COOH

Correct Answer :­CH3COOH in water/ जल म⼁⼁ CH3COOH 

11)

Question Stimulus :­

The unit of equivalent conductance?

तဒ瀐याकं怐တ चालकता क怐တ इकाई ह।ै

Ohm­1cm­1

Ohm­1cm­2

Ohm­1cm+2

None of these/ इनम⼁⼁ स ेकोई नहတတ

Correct Answer :­Ohm­1cm+2 

12)

Question Stimulus :­

The EMF for the cell reaction?

Zn Zn2+ + 2e­              Eo = + 0.76v
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Fe Fe2+ + 2e­                 Eo = + 0.41v

सले अ耂भ耂တတया के 耂लए EMF का मान होता है

Zn Zn2+ + 2e­              Eo = + 0.76v

Fe Fe2+ + 2e­            Eo = + 0.41v

­0.35v

+0.35v

+1.17v

0.117v

Correct Answer :­+0.35v 

13)

Question Stimulus :­

Rate constant depends on?

दर िᄠတथराकं ዠတनभတတर रहता ह?ै

Temperature/ ताप

Time/ समय

Initial concentration/ တတारिတတभक साတတတတता

None of these/ इनम⼁⼁ स ेकोई नहတတ

Correct Answer :­Temperature/ ताप 

14)

Question Stimulus :­

In the reaction between NO and H2 the following data are obtain

Experiment I: PH2 = constant

PNO(mm of Hg) 359 300 152

1.50 1.03 0.25
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Experiment II: PNO  = constant

PH2(mm of Hg) 289 205 147

1.60 1.10 0.79

The order with respect to H2 & NO.

 

NO तथा H2 क怐တ अ耂भ耂တတया के सबंတတध म⼁⼁ ዠတनတတन耂ल耂खत आकंड़ ेတတाတတत हएु

တတयोग I: PH2 = िᄠတथर

PNO(mm of Hg) 359 300 152

1.50 1.03 0.25

 

တတयोग II: PNO = िᄠတथर 

PH2(mm of Hg) 289 205 147

1.60 1.10 0.79

H2 तथा NO के सापᰰेᏰ अ耂भ耂တတया क怐တ कोᘖᘏटया ंह।ै 

1 with respect to NO;  2 with respect to H2/ NO के सापᰰेᏰ 1; तथा H2 के सापᰰेᏰ 2

2 with respect to NO ; 1 with respect to H2/ NO के सापᰰेᏰ 2 तथा H2 के सापᰰेᏰ 1

 

1 with respect to NO; 3 with respect to H2/ NO के सापᰰेᏰ 1 तथा H2 के सापᰰेᏰ 3

2 with respect to NO; 2 with respect to H2/ NO के सापᰰेᏰ 2 तथा H2 के सापᰰेᏰ 2

Correct Answer :­2 with respect to NO ; 1 with respect to H2/ NO के सापᰰेᏰ 2 तथा H2 के सापᰰेᏰ 1 

15)

Question Stimulus :­

Quantum yield is?

뀐တवाटंम लिတတध ह।ै
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 / 

 / 

 / 

None of these/ इनम⼁⼁ स ेकोई नहတတ

Correct Answer :­  /   

16)

Question Stimulus :­

The correct order of adsorption of the gases studies will?

गसै का अ耂धशोषण करन ेका सहတတ တတम ह।ै

NH3 > SO2 > CO2 > HCl

CO2 > SO2 > NH3 > HCl

SO2 > NH3 > HCl > CO2

HCl > SO2 > NH3 > CO2

Correct Answer :­SO2 > NH3 > HCl > CO2 

17)

Question Stimulus :­

The metal ion present in the active site of nitrogenase enzyme co­factor is?

नाइတတोजन एတတजाएम सहकारक के स耂တတय ᄠတथल삠ጀ पर उपिᄠတथत धात ुआायन ह।ै

Fe, Mo

Fe, W

Fe, Cu

Fe, Ni

Correct Answer :­Fe, Mo 
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18)

Question Stimulus :­

A complex involving dsp2 hybridization has?

dsp2 का सकंरण ह।ै

A square planer geometry/ वगတတसमतलတတय

A tetrahedral geometry/ चतတुတႰ뀐ठफलक怐တय

An octahedral geometry/ अႰ뀐टफलक怐တय

Trigonal planar geometry/ समतल 䰁ఁတတकोणी

Correct Answer :­A square planer geometry/ वगတတसमतलတတय 

19)

Question Stimulus :­

Which of the following is paramagnetic?

 इनम⼁⼁ स ेकौन सा अनचुတတबक怐တय ह?ै

Correct Answer :­  

20)

Question Stimulus :­

Consider following lanthanide (III) ion (a) Nd (III) (b) Gd (III) (c) Dy. The magnetic
moment closet to the spin only value are?

लथेनेाइड (III) आयनो (A) Nd (III)  (B) Gd (III) तथा (c) Dy (III) पर 耂वचार कर,े िजसके/िजनके 耂लए
चတတबक怐တय आधတूတण िᄠတथत मान के 耂लए ዠတनकटतम होता ह ैवह ह ै/व ेहထነ

B only/ केवल B
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A & B only/ केवल A तथा B

A & C only/ केवल A तथा C

B & C only/ केवल B तथा C

Correct Answer :­A & B only/ केवल A तथा B 

21)

Question Stimulus :­

Aldehydes and ketones form hydrocarbons by?

एिဒ瀐डहाइड तथा क怐တटोन ዠတनတတन अ耂भ耂တတया ᐵᓹवारा हाइတတोकाबတတन बनात ेहထነ?

The Clemmensen reduction/ ि뀐တलमတတशन अपचयन

The Cannizzaro reaction/ कैዠတनजार삠ጀ अ耂भ耂တတया

The Rosenmund reduction/ रोजनेमတတड अपचयन

Aldol condensation/ एဒ瀐डाल सघंनन

Correct Answer :­The Clemmensen reduction/ ि뀐တलमတတशन अपचयन 

22)

Question Stimulus :­

The rate law for the reaction

RCl + NaOH (aq.)ROH + NaCl is given by,

Rate = k1 [RCl]. The rate of the reaction will be

 

अ耂भ耂တတया RCl + NaOH (aq.)   ROH + NaCl  के 耂लय े वगे ዠတनयम वगे  = k1 [RCl]. ᐵᓹवारा ᘖᘏदया जाता ह।ै
अ耂भ耂တတया का वगे

Doubled on doubling the concentration of NaOH/ NaOH क怐တ साတတတတता दगुनी करन ेपर दगुना हो
जायगेा

Halved on reducing the concentration of RCl to one half/ RCl क怐တ साတတတတता आधी करन ेपर आधा हो
जायगेा
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Decreased on increasing the temperature of the reaction/ अ耂भ耂တတया का ताप बढ़ान ेपर घटता ह।ै

Unaffected by increasing the temperature of the reaction/ अ耂भ耂တတया का ताप बढ़ान ेपर अတတभा耂वत
रहता ह।ै

Correct Answer :­Halved on reducing the concentration of RCl to one half/ RCl क怐တ साတတတတता आधी करने
पर आधा हो जायगेा 

23)

Question Stimulus :­

In the mechanism of reaction H2 + Br2 → 2HBr the first step is?

H2 + Br2 → 2HBr अ耂भတတया क怐တ 耂တတया耂व耂ध म⼁⼁ တတथम चरण ह।ै

Dissociation of H2 into H radical/ H2 का H मलूक삠ጀ म⼁⼁ 耂वयोिजत होना

Dissociation of Br2 into Br radical/ Br2 का Br मलूक삠ጀ म⼁⼁ 耂वयोिजत होना

Reaction of H radical with Br2/ H मलूक क怐တ Br2 म⼁⼁ अ耂भ耂တတया

Reaction of Br. radical with H2/ Br मलूक क怐တ H2 म⼁⼁ अ耂भ耂တတया

Correct Answer :­Dissociation of Br2 into Br radical/ Br2 का Br मलूक삠ጀ म⼁⼁ 耂वयोिजत होना 

24)

Question Stimulus :­

The synthesis of alkyl fluorides is best accomplished by?

 अဒ瀐काइल တတलोराइड के सႰ뀐लषेण के 耂लय ेसबस ेउपय뀐တत 耂व耂ध ह।ै

Free radical fluorination/ म뀐တत मलूक တတलोरတတनीकरण

Sandmeyer reaction/ सတेတडमयेर अ耂भ耂တတया

Flinkelstein reaction/ 耂फंकलᄠတटाइन अ耂भ耂တတया

Swart’s reaction/ ᄠတवाटတတस अ耂भ耂တတया

Correct Answer :­Flinkelstein reaction/ 耂फंकलᄠတटाइन अ耂भ耂တတया 

25)
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Question Stimulus :­

Monomer unit of PVC is?

PVC का एकलक ह।ै

Ethylene/  ए耂थलတတन

Vinyl chloride/  耂वनाएल 뀐တलोराइड

Tetra fluoro ethylene/  टတैတा 뀐တलोरो एथाइलတတन

Styrene/ ᄠတटायरတတन

Correct Answer :­Vinyl chloride/  耂वनाएल 뀐တलोराइड 

26)

Question Stimulus :­

Phosphorescence is?

फाᄠတफोတတरसयेनस ह।ै

T1(vo) → So(vo) + hv

T2(vo) → S1(vo) + hv

T1(vo)   So(vo) + 

T2(vo)   T1( o) + hv

Correct Answer :­T1(vo) → So(vo) + hv 

27)

Question Stimulus :­

The number of line in the ESR spectrum of CD3? (Spin of D=1)

 CD3 के ESR म⼁⼁ लाइन삠ጀ क怐တ सတႰया ह?ै

1

3

4
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7

Correct Answer :­7 

28)

Question Stimulus :­

In the following compounds the order of basicity is:

ዠတनတတन यौ耂गको म⼁⼁ ᰰᏰारတတयता का တတम ह:ै

IV > I > III > II

III > I > IV > II

II > I > III > IV

I > III > II > IV

Correct Answer :­I > III > II > IV 

29)

Question Stimulus :­

Following compound is?

 

ዠတनတတन उတတपाद ह?ै

Benzofuran/ बတेတजोတတयरूने

Quinone/ 뀐တवीनॉन
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Indole/ इတတडोल

Phenolphthalein/ 耂फनाတတथलတတन

Correct Answer :­Indole/ इတတडोल 

30)

Question Stimulus :­

The IUPAC name for the compound given below is:

ዠတनတတन耂ल耂खत यौ耂गक का IUPAC नाम ह।ै

(2R, 3Z) 7 phenylhept­3en­2­ol

(2, 3Z) 7 phenylhept­3en­2ol.

(2R, 3E) 7 phenylhept­3en­2ol

(2S, 3E)7 phenylhept­3en­2ol

Correct Answer :­(2S, 3E)7 phenylhept­3en­2ol 

31)

Question Stimulus :­

Following reaction is?

ዠတनတတन अ耂भ耂တတया है
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1, 2 addition product/ 1, 2 योगाတတमक उတတपाद

1, 4 addition product/ 1, 4 योगाတတमक उတတपाद

1, 2 & 1, 4 Both/ 1, 2 और 1, 4  दोन삠ጀ

Only 1, 4 Major/ केवल 1, 4

Correct Answer :­1, 2 addition product/ 1, 2 योगाတတमक उတတपाद 

32)

Question Stimulus :­

Following Compound?

ዠတनတတन उတတपाद म⼁⼁

[A] is more acidic H/ [A] अ耂धक अတတलတတय H

[B] is more acidic H/ [B] अ耂धक अတတलတတय H

[C] is more acidic H/ [C] अ耂धक अတတलတတय H

A, B, C are basic H/ A, B, और C ᰰᏰारတတय

Correct Answer :­[B] is more acidic H/ [B] अ耂धक अတတलတတय H 

33)

Question Stimulus :­

A determinate error can be evaluated?
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တတᘖᘏट का मဒ瀐याकंन ዠတनवाတတरक क怐တ 耂व耂ध ह?ै

Experimentally/ တတयोगाတတमक

Theoretically/ 耂सዐዠाዠတतक

(a) and (b) both/  (a) तथा (b) दोनो

Cannot be evaluated/ मဒ瀐याकंन नहတတ 耂कया जा सकता है

Correct Answer :­(a) and (b) both/  (a) तथा (b) दोनो 

34)

Question Stimulus :­

The masses recorded when a substance a weight 4 time are 15.8, 15.4, 15.6 and 16.0 mg. The variance
(square of the standard deviation) is closed to?

एक पदाथတတ को चार बार तोलन ेपर उसक怐တ सहंዠတत का मान 15.8, 15.4, 15.6 तथा 16.0 mg अ耂ंकत 耂कया गया ह।ै इसका
တတसारण (मानक 耂वचलन का वगတတ) िजसके ዠတनकतᄠတट होगा वह ह?ै

0.02

0.05

0.10

0.20

Correct Answer :­0.02 


